
GRUPO 1
1 Rodamientos Radiales De Bolas

d D B Fig. SKF No. Remarks
4 16 5 1 634-ZZ 4x16x5
4 16 5 180 604280 B 4x16x5
5 16 5 1 625 5x16x5
5 16 5 25 625 2Z 5x16x5
5 16 5 255 E 5 5x16x5
5 19 6 1 635 5x19x6
6 19 6 1 626 6x19x6
6 19 6 25 626 2Z 6x19x6
6 19 8 320 ADR.SP 3874 6x19x8 C = 6
6,35 17,462 6,35 212 NIC.402 2 6,35x17,462x6,35
6,35 19,05 5,556 1 EE 2 6,35x19,05x5,556
7 19 6 1 607 7x19x6
7 19 6 35 607 2RS1/C3 7x19x6
7 22 7 1 627 7x22x7
8 22 7 1 608 8x22x7
8 22 7 20 608 Z 8x22x7
8 22 7 20 608 Z/C3 8x22x7
8 22 7 25 608 2Z 8x22x7
8 22 7 35 608 2RS1 8x22x7
8 22 11 35 630/82RS1 8x22x11
8 24 7 255 E8 8x24x7
9 20 6 1 699 2RS 9x20x6
9 20 6 1 ADR.AY 9 9x20x6
9 24 7 609 9x24x7
9 26 8 1 629 9x26x8
9 26 8 1 629/C2     609 9x26x8
9 26 8 20 629 Z 9x26x8
9 26 8 25 629 2Z/C3 9x26x8
9,525 22,225 5,556 1 EE 3 9,525x22,225x5,556
10 15 3 6700 10x15x3
10 19 5 6800 10x19x5
10 22 6 6900 10x22x6
10 26 8 1 6000 10x26x8 Alternador Ford 97
10 26 8 20 6000 Z 10x26x8
10 26 8 25 6000 2Z 10x26x8
10 26 8 30 6000 RS1 10x26x8
10 26 8 35 6000 2RS1/C3 10x26x8
10 30 9 1 6200 10x30x9
10 30 9 20 6200 Z 10x30x9
10 30 9 20 6200 Z/C3 10x30x9
10 30 9 25 6200 2Z 10x30x9
10 30 9 30 6200 RS1 10x30x9
10 30 9 35 6200 2RS1 10x30x9
10 30 9 35 6200 2RS1/C3 10x30x9
10 30 9 35 6200 2RS1/C3HT51 10x30x9
10 30 9 35 6200 2RS1/C3Q66 10x30x9
10 30 9 35 6200 2RS1/C4 10x30x9
10 30 9 110 6200 ZNR 10x30x9 = 34.7   S = 3.18      f = 1.12
10 30 9 110 6200 ZNR/411189 10x30x9 = 34.7   S = 3.18      f = 1.12
10 30 9 300 1200 10x30x9
10 30 14 260 4200 A 10x30x14
10 30 14 510 3200 10x30x14
10 35 11 1 6300 10x35x11
10 35 11 1 6300/C3 10x35x11
10,6 72 26.5 198 307838 B 10,6x72x26.5 C = 27.65
11 72 38 195 395765 BA 11x72x38 C = 25.3
11 72 33.2 196 393614 11x72x33.2 C = 29.9
11,112 23.019 7.938 212 NIC.N 1159 11,112x23.019x7.938
11,112 23.019 --- 365 V NIC.706 1/4 11,112x23.019x--- C = 7.541  T = 9.525
12 18 4 6701 12x18x4
12 21 5 6801 12x21x5
12 24 6 6901 12x24x6
12 28 7 16001 12x28x7
12 28 8 1 6001 12x28x8
12 28 8 1 6001/C3 12 28 8



12 32 10 1 6201/C2 12x32x10
12 32 10 1 6201/C2VB043 12x32x10
12 32 10 1 6201/C3 12x32x10
12 32 10 1 1861069 12x32x10
12 32 10 20 6201 Z 12x32x10
12 32 10 20 6201 Z/C3 12x32x10
12 32 10 25 6201 2Z 12x32x10
12 32 10 25 6201 2Z/C3 12x32x10
12 32 10 30 6201 RS1 12x32x10
12 32 10 30 6201 RS1/C3 12x32x10
12 32 10 35 6201 2RS1 12x32x10
12 32 10 35 6201 2RS1/C3 12x32x10
12 32 10 35 6201 2RS1/C3HT22B 12x32x10
12 32 10 35 6201 2RS1/C3HT42B 12x32x10
12 32 10 35 6201 2RS1/C403HT42B 12x32x10
12 32 10 350 V 7201 AV 12x32x10
12 32 10 350 7201 B 12x32x10
12 32 14 35 62201 2RS1 12x32x14
12 32 14 35 62201 2RS1/C3 12x32x14
12 32 14 35 62201 2RS1/C3HT42B 12x32x14
12 32 15.9 510 3201 12x32x15.9 C = 10
12 35 15.4 183 393480 12x35x15.4
12 37 12 1 6301 12x37x12
12 37 12 1 6301/C3 12x37x12
12 37 12 20 6301 Z 12x37x12
12 37 12 30 6301 RS1 12x37x12
12 37 12 35 6301 2RS1 12x37x12
12 37 12 35 6301 2RS1/LHT30 12x37x12
12 37 12 35 6301 2RS1/C3 12x37x12
12 37 12 350 7301 B 12x37x12
12 37 17 30 62301 RS1 12x37x17
12 40 12 6203/12 ARB ESPECIAL
12 50 16 1 431846 A 12x50x16
12,7 28,575 6,35 1 EE 4 12,7x28,575x6,35
12,7 28,575 7,95 25 394980 A 2Z 12,7x28,575x7,95
12,7 33,338 9,525 1 RLS 4 12,7x33,338x9,525
12,7 33,338 9,525 300 RL 4 12,7x33,338x9,525
12,7 41,275 15,875 1 RMS 4 12,7x41,275x15,875
12,8 35 11 35 6202/12.8 2RS1 12,8x35x11 C = 11
14,05 42 16 1 361967 A 14,05x42x16
14,3 34,892 9,52 351 V 441257 C 14,3x34,892x9,52 C = 7.13   T = 10.46
14,418 31,717 9,14 356 633089 A 14,418x31,717x9,14 = 16.13  C = 6.48   T = 9.525
15 15 38 19 DS 15x15x38
15 21 4 6702 15x21x4
15 24 5 6802 15x24x5
15 28 7 1 6902 RS 15x28x7
15 28 7 6902 15x28x7
15 32 8 1 16002 15x32x8
15 32 9 1 6002 15x32x9
15 32 9 1 6002/C3 15x32x9
15 32 9 20 6002 Z 15x32x9
15 32 9 25 6002 2Z 15x32x9
15 32 9 35 6002 2RS1 15x32x9
15 32 11 35 63002 2RS1/C3 15x32x11
15 35 8 255 E 15 15x35x8
15 35 10 1 1861085 15x35x10
15 35 11 1 6202 15x35x11
15 35 11 1 6202/C2 15x35x11
15 35 11 1 6202/C3 15x35x11
15 35 11 1 6202/VE020 15x35x11
15 35 11 1 6202/D8VT103 15x35x11
15 35 11 20 6202 Z 15x35x11
15 35 11 20 6202 Z/C3 15x35x11
15 35 11 20 6202 Z/C4 15x35x11
15 35 11 20 6202 Z/MT47 15x35x11
15 35 11 20 6202 Z/VT103 15x35x11
15 35 11 25 6202 2Z 15x35x11



15 35 14 35 62202 2RS1/C3MT80 15x35x14
15 35 14 35 62202 2RS1/C4MT80 15x35x14
15 35 14 260 4202 A 15x35x14
15 35 20 517 BA2B 440114 AE 15x35x20
15 35 8.992 20 G 7109 15x35x8.992
15 35 12.192 66 I 200449 C 15x35x12.192 C = 12.319   T = 12.7
15 35 14      13 35 62202 2RS1        DSI 15x35x14      13
15 35 15.9 510 3202 15x35x15.9
15 42 13 1 6302 15x42x13
15 42 13 1 6302/C3 15x42x13
15 42 13 20 6302 Z 15x42x13
15 42 13 25 6302 2Z 15x42x13
15 42 13 25 6302 2Z/C3 15x42x13
15 42 13 30 6302 RS1 15x42x13
15 42 13 30 6302 RS1/C3 15x42x13
15 42 13 30 6302 RS1/C3MT33C 15x42x13
15 42 13 35 6302 2RS1 15x42x13
15 42 13 35 6302 2RS1/C3 15x42x13
15 42 13 110 6302 ZNR 15x42x13 D2 = 46.3   S = 3.18   f = 1.12
15 42 13 350 7302 B 15x42x13
15 42 17 35 62302 2RS1/C3MT80 15x42x17
15 42 19 510 3302 15x42x19
15 46 14 336  DF 15x46x14
15 47 14 336 15x47x14
15,83 35 11 1 394725 A         DSI 15,83x35x11
15,875 34,925 7,144 1 EE 5 15,875x34,925x7,144
15,875 34,925 7,144 1 EE 5/C3 15,875x34,925x7,144
15,875 34,925 8,731 25 G 77R 10 15,875x34,925x8,731
15,875 39,688 11,112 1 RLS 5 15,875x39,688x11,112
15,875 39,688 11,112 1 RLS 5/C3 15,875x39,688x11,112
15,875 39,688 11,112 20 RLS 5 Z 15,875x39,688x11,112
15,875 40 14,244 25 BB1B 4117045 15,875x40x14,244 C = 17.4
15,875 40 28,6 186 YET 203 010 15,875x40x28,6 C = 12
15,875 46,038 15,875 1 RMS 5 15,875x46,038x15,875
15,875 46,038 15,875 300 RM 5 15,875x46,038x15,875
15,875 48,825 14,288 381 414008 15,875x48,825x14,288 C = 13.3   T = 15.875
15,875 57,15 14,288 207 V 414169 15,875x57,15x14,288
15,875 57,15 14,288 207 V 41501 C 15,875x57,15x14,288
15,918 60 34 293 BVND 445787 AB 15,918x60x34
15,918 60 34 293 BVND 445788 AB 15,918x60x34
16 35 12.192 66 G 8016 16x35x12.192 C = 10.998   T = 12.7
16 40 12 30 6203/16 RS1 16x40x12
16 40 12 35 6203/16 2RS1 16x40x12
16 40 13.894 30 402703 C 16x40x13.894 C = 14.3
16 62 17 1 BB1B 443594 B 16x62x17
16,4 32 10 480 307487 A 16,4x32x10 13 pcs. RB 5
17 23 4 6703 17x23x4
17 26 5 6803 17x26x5
17 30 7 6903 RRS 17x30x7
17 30 7 6903 17x30x7
17 35 8 1 16003 17x35x8
17 35 8 1 16003/C2 17x35x8
17 35 10 1 6003 17x35x10
17 35 10 1 6003 ETN9/C2 17x35x10
17 35 10 20 6003 Z 17x35x10
17 35 10 25 6003 2Z 17x35x10
17 35 10 30 6003 RS1 17x35x10
17 35 10 35 6003 2RS1 17x35x10
17 35 10 35 6003 2RS1/C3 17x35x10
17 40 10 255 L 17 17x40x10
17 40 12 1 6203 17x40x12
17 40 12 1 6203/C3 17x40x12
17 40 12 1 6203/C4 17x40x12
17 40 12 1 6203/VE020 17x40x12
17 40 12 20 6203 Z 17x40x12
17 40 12 20 6203 Z/C3 17x40x12
17 40 12 20 6203 Z/238063 17x40x12



17 40 12 35 62032RS1/MT59 17x40x12
17 40 12 35 6203 VCW 17x40x12
17 40 12 25 6203 N 17x40x12 D1 = 38.1   b = 1.35   a = 2.06
17 40 12 90 6203 ZN 17x40x12 D1 = 38.1   b = 1.35   a = 2.06
17 40 12 105 6203 NR 17x40x12 D2 = 44.6   S = 3.18   f = 1.12
17 40 12 120 6203 2RS1NR 17x40x12 D2 = 44.6   S = 3.18   f = 1.12
17 40 12 181 1726203 RS1 17x40x12
17 40 12 182 1726203 2RS1 17x40x12
17 40 12 300 1203 17x40x12
17 40 12 350 7203 B 17x40x12
17 40 13,665 66 G 8503 17x40x13,665 C = 12   T = 14.3
17 40 16 35 62203 2RS1 17x40x16
17 40 16 35 62203 2RS1/C3 17x40x16
17 40 16 35 62203 2RS1/C3MT80 17x40x16
17 40 16 260 4203 A 17x40x16
17 40 16,6 70 G 88503 17x40x16,6 C = 12
17 40 17,5 510 3203 17x40x17,5
17 40 17,5 510 3203/C3 17x40x17,5
17 44 11 255 BO 17 17x44x11
17 44 14 1 613095 17x44x14
17 47 14 1 6303 17x47x14
17 47 14 1 6303/C2 17x47x14
17 47 14 1 6303/C3 17x47x14
17 47 14 20 6303 Z 17x47x14
17 47 14 20 6303 Z/C3 17x47x14
17 47 14 25 6303 2Z 17x47x14
17 47 14 25 6303 2Z/C3HT42 17x47x14
17 47 14 25  17x47x14
17 47 14 30 6303 RS1 17x47x14
17 47 14 30 6303 RS1/C3 17x47x14
17 47 14 35 6303 2RS1 17x47x14
17 47 14 35 6303 2RS1/C3 17x47x14
17 47 14 35 6303 2RS1/C3HT22B 17x47x14
17 47 14 35 6303 2RS1/LHT30 17x47x14
17 47 14 85 6303 N 17x47x14 D1 = 44.6   b = 1.35   a = 2.46
17 47 14 105 6303 NR 17x47x14 D2 = 52.7   S = 3.58   f = 1.12
17 47 14 350 7303 B 17x47x14
17 47 14 350 7303 B/232298 17x47x14
17 47 19 35 62303 2RS1 17x47x19
17 47 19 35 62303 2RS1/C3 17x47x19
17 47 22.2 510 3303 17x47x22.2
17 47 22.22 585 617313 17x47x22.22 D1 = 56
17 49,5 --- 292 362527 C 17x49,5x--- C = 31.6
17 62 17 1 6403 17x62x17
17 62 17 1 6403/C3 17x62x17
17 62 17 105 6403 NR 17x62x17 D2 = 67.7   S = 4.98   f = 1.7
19,05 30,1 7,14 1 BB1B 394898 C 19,05x30,1x7,14 C = 6.35
19,05 30,162 7,137 1 V NIC.7394 H 19,05x30,162x7,137 C = 6.35
19,05 38,1 10 B 182 1B1C3 19,05x38,1x10
19,05 41,2 11,2 EE 6 19,05x41,2x11,2
19,05 47 31 186 YET 204 012 19,05x47x31 C = 14
19,05 47,625 14,288 1 RLS 6 19,05x47,625x14,288
19,05 47,625 14,288 20 RLS 6 Z 19,05x47,625x14,288
19,05 47,625 14,288 300 RL 6 19,05x47,625x14,288
19,05 50,8 17,462 1 RMS 6 19,05x50,8x17,462
19,05 50,8 17,462 1 RMS 6/C3 19,05x50,8x17,462
19,05 50,8 17,462 350 406271 19,05x50,8x17,462
19,05 57,15 14,288 207 V 412040 19,05x57,15x14,288 C = 14.288
19,2 36,5 11,6 491 BA1B 633376 19,2x36,5x11,6 C = 13.9   D1 = 39   T = 18.1
19,6 44,475 10 353 307481 19,6x44,475x10 C = 8.5   T = 14.5
19,6 51 10 352 307677 C 19,6x51x10 C = 8.5   T = 14.5
20 27 4 6704 20x27x4
20 32 7 1 61804 20x32x7
20 32 7 6804 20x32x7
20 37 9 1 6904 20x37x9
20 37 9 1 ADR AY 20 20x37x9
20 37 9 6904 20x37x9



20 42 12 35 6004 2RS1/C2 20x42x12
20 42 12 35 6004 2RS1/C3 20x42x12
20 42 16 35 63004 2RS1 20x42x16
20 47 12 255 E 20 20x47x12 D = 47+0.01

20 47 12 255 EN 20 20x47x12 D = 47-0.01

20 47 14 1 6204 20x47x14
20 47 14 1 6204/C3 20x47x14
20 47 14 1 6204/C4 20x47x14
20 47 14 1 6204/C5 20x47x14
20 47 14 1 6204 MA/C3 20x47x14
20 47 14 20 6204 Z 20x47x14
20 47 14 20 6204 Z/C3 20x47x14
20 47 14 25 6204 2Z 20x47x14
20 47 14 25 6204 2Z/C3 20x47x14
20 47 14 30 6204 RS1 20x47x14
20 47 14 35 6204 2RS1 20x47x14
20 47 14 35 6204 2RS1/C3 20x47x14
20 47 14 85 6204 N/C3 20x47x14 D1 = 44.6   b = 1.35   a = 2.46
20 47 14 105 6204 NR 20x47x14 D2 = 52.7   S = 3.58   f = 1.12
20 47 14 110 6204 ZNR 20x47x14 D2 = 52.7   S = 3.58   f = 1.12
20 47 14 181 1726204 RS1 20x47x14
20 47 14 182 1726204 2RS1 20x47x14
20 47 14 255 L 20 20x47x14
20 47 14 300 1204 20x47x14
20 47 14 350 7204 B 20x47x14
20 47 14,288 351 404359 20x47x14,288 C = 11.112   T = 14.381
20 47 15,24 60 G 87504 20x47x15,24 C = 14   T = 15.875
20 47 15,24 60 G WC 87504 20x47x15,24 C = 15.875   T = 15.875
20 47 15,24 66 I 200547 B 20x47x15,24 C = 15.494   T = 15.875
20 47 18 35 62204 2RS1 20x47x18
20 47 18 35 62204 2RS1/C3MT80 20x47x18
20 47 18 260 4204 A 20x47x18
20 47 18 300 2204 20x47x18
20 47 20,6 510 3204 20x47x20,6
20 47 31 186 YET 204 20x47x31 C = 14
20 47 40 305 11204 20x47x40 C = 14
20 47 43,7 187 YEL 204 20x47x43,7 C = 14
20 50 20,6 575 616073 20x50x20,6 D2 = 55   S = 3.58   f = 1.12
20 52 15 1 6304 20x52x15
20 52 15 1 6304/C3 20x52x15
20 52 15 1 6304/C4 20x52x15
20 52 15 1 6304/P62 20x52x15
20 52 15 1 6304/361153A 20x52x15
20 52 15 1 6304/361153B 20x52x15
20 52 15 1 361819 B 20x52x15
20 52 15 1 361895 B 20x52x15
20 52 15 1 BB1B 362637 A 20x52x15
20 52 15 1 415337 20x52x15
20 52 15 1 440016 20x52x15
20 52 15 20 6304 Z 20x52x15
20 52 15 20 6304 Z/C3 20x52x15
20 52 15 20 6304 Z/C4 20x52x15
20 52 15 20 6304 Z/C4VB029 20x52x15
20 52 15 25 6304 2Z 20x52x15
20 52 15 30 6304 RS1 20x52x15
20 52 15 30 6304 RS1/C3 20x52x15
20 52 15 35 6304 2RS1 20x52x15
20 52 15 35 6304 2RS1/C3 20x52x15
20 52 15 35 440518 20x52x15
20 52 15 85 6304 ENTN9 20x52x15 = 49.73   b = 1.35   a = 2.46
20 52 15 85 6304 N 20x52x15 = 49.73   b = 1.35   a = 2.46
20 52 15 105 6304 NR/C3 20x52x15  = 57.9    S  = 3.58   f = 1.12
20 52 15 105 440017 ANR/C4 20x52x15  =  57.9   S  = 3.58   f = 1.12
20 52 15 120 6304 2RS1NR 20x52x15  = 57.9    S  = 3.58   f = 1.12
20 52 15 120 6304 2RS1NR/C3 20x52x15  =  57.9   S  = 3.58   f = 1.12
20 52 15 225 304 20x52x15
20 52 15 255 M 20 20x52x15



20 56 15 617409 20x56x15
20 62 17 1 614448 B 20x62x17
20 62 17 105 613497 A 20x62x17 D2 = 67.7   S = 4.98   f = 1.7
20 72 19 1 6404 20x72x19
20 43.6 12 135 362162 C 20x43.6x12 C = 21
20,12 38,1 7,899 480 311142 + 311161 20,12x38,1x7,899
20,12 42,013 7,899 480 311142 + 311042 20,12x42,013x7,899
20,2 33,5 9,2 465 311142 20,2x33,5x9,2 11 pcs. RB 7.144
20,2 36,3 11,085 491 614447 A 20,2x36,3x11,085 D1 = 39   C = 14.9   T = 18
20,2 36,3  --- 492 614447 20,2x36,3x --- D1 = 39   C = 14.9   T = 18
20,2 56 16 270 BVNB 319660 A/HA2 20,2x56x16 d1 = 29.5   C = 27.5
20,762 52 15 1 415666 B 20,762x52x15
21,524 58 15 85 416714 B 21,524x58x15 D1 = 55.61   b = 1.9   a = 2.47
21,8 48 20,6 585 614369 A/C3 21,8x48x20,6 C = 18.5   D1 = 53   S = 4
22 42 12 6004/22 22x42x12
22 44 12 60/22 22x44x12
22 47 14 1 6204/22 22x47x14
22 50 14 1 62/22 22x50x14
22 50 14 2 BB1B 362668 22x50x14
22 50 14 35 62/22 2RS1/C3 22x50x14
22 50 14 43 BB1B 445545 B 22x50x14 C = 30.8
22 52 15 35 6205/22 2RS1 22x52x15
22 52 15 125 611317 C 22x52x15 D1 = 56   S = 2.5
22 56 16 1 63/22 22x56x16
22 56 16 1 63/22/C3 22x56x16
22 56 16 1 63/22 ETN9/C3VB065 22x56x16
22 57 16 85 440683 22x57x16 D1 = 54.8   b = 1.9   a = 2
22 57 16 85 442546 A 22x57x16 D1 = 54.8   b = 1.9   a = 2.21
22 68 18 1 BB1B 362693 22x68x18
22 74 33.5 197 395955 22x74x33.5 C = 27.3
22,225 47,625 9,525 1 EE 8 22,225x47,625x9,525
22,225 50,8 14,288 1 RLS7 22,225x50,8x14,288
22,225 50,8 14,288 1 410170 22,225x50,8x14,288
22,225 50,8 14,288 1 416066 22,225x50,8x14,288
22,225 50,8 14,288 20 RLS 7 Z 22,225x50,8x14,288
22,225 50,8 14,288 35 RLS 7 2RS1 22,225x50,8x14,288
22,225 50,8 14,288 350 ALS 7 22,225x50,8x14,288
22,225 50,8 14,288 350 ALS 7/232298 22,225x50,8x14,288
22,225 52 31 186 YET 205 014 22,225x52x31 C = 15
22,225 52 34,1 188 YAR 205 014 22,225x52x34,1 C = 15
22,225 52 44,4 187 YEL 205 014 22,225x52x44,4 C = 15
22,225 57,15 17,462 1 RMS 7 22,225x57,15x17,462
22,225 57,15 17,462 1 RS 7/C3 22,225x57,15x17,462
22,23 50,808 20,291 350 BA1B 633299 A 22,23x50,808x20,291 C = 9.525
22,35 35 10,3 491 307518 22,35x35x10,3 C = 15.5   T = 19.5
22,5 56 16 1 360903 AA 22,5x56x16
23 58 28 458 BRUB 445380 A 23x58x28
23 48.5 26.5 415 360272 H 23x48.5x26.5 T = 32.22   T1 = 22.32
23,5 57 21,5 458 BRUB 443617 A 23,5x57x21,5 C = 16.5   T = 24
23,5 101 69,6 597 BA2D 633293 A 23,5x101x69,6 8.5  T = 51.6  S = 10  a = 17
23,5 101 69,6 599 BA2B 633292 C 23,5x101x69,6 8.5  T = 51.6  S = 10  a = 17
23,812 52 31 186 YET 205 015 23,812x52x31 C = 15
24 40 8 498 309544 DB 24x40x8
24,01 77,5 21,5 462 BRUB 445232 A 24,01x77,5x21,5 C = 14   T = 30.8
24,06 55 19,8 460 BRUB 445208 DE 24,06x55x19,8 C = 13.6   T = 36.1
24,5 62 27,5 585 BA2B 444080 AB 24,5x62x27,5 = 24.5   D1 = 67.25   S = 5.5
24,995 66,013 21,55 8 H BB1B 362574 D 24,995x66,013x21,55 C = 14.5
25 32 4 6705 25x32x4
25 37 7 1 61805 25x37x7
25 37 7 1 61805/C3 25x37x7
25 37 7 6805 25x37x7
25 42 9 6905 25x42x9
25 47 8 1 16005 25x47x8
25 47 8 1 16005/C3 25x47x8
25 47 12 1 6005 25x47x12
25 47 12 1 6005/C3 25x47x12
25 47 12 20 6005 Z 25x47x12



25 52 15 20 6205 Z/C3 25x52x15
25 52 15 25 6205 2Z 25x52x15
25 52 15 25 6205 2Z/C3 25x52x15
25 52 15 30 6205 RS1 25x52x15
25 52 15 30 6205 RS1/C3 25x52x15
25 52 15 35 6205 2RS1 25x52x15
25 52 15 35 6205 2RS1/C2 25x52x15
25 52 15 35 6205 2RS1/C3 25x52x15
25 52 15 85 6205 N 25x52x15 = 49.73   b = 1.35   a = 2.46
25 52 15 85 6205 N/C3 25x52x15 = 49.73   b = 1.35   a = 2.46
25 52 15 85 440256 25x52x15 = 49.73   b = 1.35   a = 2.46
25 52 15 90 6205 ZN/C3 25x52x15 = 49.73   b = 1.35   a = 2.46
25 52 15 102 361940 A 25x52x15 = 49.73   b = 1.35   a = 2.46
25 52 15 105 6205 NR 25x52x15  = 57.9    S  = 3.58   f = 1.12
25 52 15 105 6205 NR/C3 25x52x15  = 57.9    S  = 3.58   f = 1.12
25 52 15 105 616492 25x52x15  = 57.9    S  = 3.58   f = 1.12
25 52 15 110 6205 ZNR 25x52x15  = 57.9    S  = 3.58   f = 1.12
25 52 15 181 1726205 RS1 25x52x15
25 52 15 182 1726205 2RS1 25x52x15
25 52 15 255 RIV.2 APM 25 25x52x15
25 52 15 300 1205 25x52x15
25 52 15 350 7205 B 25x52x15
25 52 15 350 7205 BG 25x52x15
25 52 15 350 236117 25x52x15
25 52 15 350 409347 25x52x15
25 52 18 35 62205 2RS1 25x52x18
25 52 18 35 62205 2RS1/C3 25x52x18
25 52 18 54 415695 25x52x18
25 52 18 260 4205 A 25x52x18
25 52 18 300 2205 25x52x18
25 52 20,6 20,6 DAC 255200206 25x52x20,6 P. VENT. FIAT 125
25 52 20,6 20,6 DAC 255200206 25x52x20,6 P. VENT. FIAT 125
25 52 25 315 11505 25x52x25 C = 15
25 52 31 186 YET 205 25x52x31 C = 15

25 52 37 37 BA 869) JRM 2525/jrm 2552x 25x52x37

R.T. RENAULT AX BAXO 
VISA XSARA 
106/PEUGEOT 205 
CITROEN 

25 52 37 37 BA 869) JRM 2525/jrm 2552x 25x52x37

R.T. RENAULT AX BAXO 
VISA XSARA 
106/PEUGEOT 205 
CITROEN 

25 52 44 305 11205 25x52x44 C = 15
25 52 16.8 70 G 88505 25x52x16.8 C = 15
25 52 20.6 45 462205 25x52x20.6
25 52 20.6 510 3205 = 5205 25x52x20.6
25 52 20.6 510 3205/C3 25x52x20.6
25 52 20.6 516 441434 A 25x52x20.6
25 52 20.6 517 441434 25x52x20.6
25 52 20.6 527 614848 A 25x52x20.6
25 52 20.6 538 617546 A 25x52x20.6
25 52 20.6 580 611499 B/C3 25x52x20.6 D1 = 58   S = 4   a = 13.4
25 52 34.1 186 YAR 205 25x52x34.1 C = 15
25 52 44.4 187 YEL 205 25x52x44.4 C = 15
25 52 44.4 187 YEL 205 WU 25x52x44.4 C = 15
25 54 15 137 360406 AA 25x54x15 C = 34
25 56 20.6 538 633161 25x56x20.6 C = 27
25 56 20.6 538 BA2B 633280 25x56x20.6 C = 29
25 57 16 1 440081 25x57x16
25 57 16 1 613742 C/C3 25x57x16
25 57 16 35 440081 2RS1 25x57x16
25 57 16 85 440081 N 25x57x16 D1 = 54.8   b = 1.9   a = 2
25 57 16 105 613828 25x57x16 D2 = 62.88   S = 3.7   f = 1.7
25 58 16 SCO 555 25x58x16
25 60 17 225 615327/C3 25x60x17
25 60 20.6 538 633157 25x60x20.6 C = 27
25 60 20.6 538 BA2B 633272 25x60x20.6 C = 29
25 62 12 1 239924 25x62x12



25 62 17 30 6305 RS1 25x62x17
25 62 17 30 6305 RS1/C3 25x62x17
25 62 17 35 6305 2RS1 25x62x17
25 62 17 35 6305 2RS1/C3 25x62x17
25 62 17 35 6305 2RS1/C4 25x62x17
25 62 17 35 6305 2RS1/HT51B 25x62x17
25 62 17 38 6305 2LS/C3/362249B 25x62x17
25 62 17 38 6305 2LS/C4/362249B 25x62x17
25 62 17  38 6305 2LS/C4/362249AB 25x62x17
25 62 17 85 6305 N 25x62x17 D1 = 59.61   b = 1.9   a = 3.28
25 62 17 85 6305 N/C3 25x62x17 D1 = 59.61   b = 1.9   a = 3.28
25 62 17 85 BB1B 362711 A 25x62x17 D1 = 59.61   b = 1.9   a = 3.28
25 62 17 85 442596 25x62x17 D1 = 59.61   b = 1.9   a = 3.28
25 62 17 105 6305 NR 25x62x17 D2 = 67.7   S = 4.98   f = 1.7
25 62 17 105 6305 NR/C3 25x62x17 D2 = 67.7   S = 4.98   f = 1.7
25 62 17 110 6305 ZNR 25x62x17 D2 = 67.7   S = 4.98   f = 1.7
25 62 17 125 362123 A 25x62x17 D1 = 67   S = 5
25 62 17 182 1726305 2RS1 25x62x17
25 62 17 225 305 25x62x17
25 62 17 230 305 Z 25x62x17
25 62 17 230 305 Z/C3 25x62x17
25 62 17 233 305 RS1 25x62x17
25 62 17 242 305 NR 25x62x17 D2 = 67.7   S = 4.98   f = 1.7
25 62 17 300 1305 25x62x17
25 62 17 350 7305 B 25x62x17
25 62 17 350 7305 B/232298 25x62x17
25 62 17 353 431702 A 25x62x17 C = 15   T = 17
25 62 17 353 17305 25x62x17 C = 15   T = 18.5
25 62 19 125 630186 25x62x19 D1 = 67   C = 17   S = 3
25 62 19 125 BB1B 630430 25x62x19 D1 = 67   C = 17   S = 3
25 62 24 35 62305 2RS1 25x62x24
25 62 24 264 I 100951 BTN 25x62x24 D1 = 59   b = 1.55   a = 4.5
25 62 24 260 4305 A 25x62x24
25 62 27 310 1206 K + H 206 25x62x27 C = 16   B1 = 8
25 62 31 310 1206 K + H 306 25x62x31 C = 16   B1 = 8
25 62 42.062 518 5305 VAD 25x62x42.062
25 62 25.4 510 3305 25x62x25.4
25 62 25.4 550 240426 25x62x25.4 D1 = 59.6   b = 3   a = 6.8
25 62 25.4 585 440019 B 25x62x25.4 D1 = 67.3   S = 5.5
25 64 17 353 440693 25x64x17 C = 15   T = 17
25 66 19 126 361037 B 25x66x19 D1 = 70   C = 17   S = 3
25 66 27 585 BA2B 445192 B 25x66x27 1 = 71.75   C = 24.4   S = 5.5
25 67 20.6 547 BA2B 633332 A 25x67x20.6 C = 34
25 68 19 1 440536 25x68x19
25 68 19 85 440830 A 25x68x19 D1 = 64.82   b = 1.9   a = 3.28
25 68 19 205 305862 CA 25x68x19
25 68 19 215 305882 B 25x68x19 D1 = 73   S = 7
25 68 19 215 633115 A 25x68x19 D1 = 75   S = 4
25 70 21 205 309277 C          617546 25x70x21
25 72 21 85 440432 25x72x21 D1 = 68.81   b = 1.93   a = 3.4
25 80 21 1 6405 25x80x21
25 106 15 200 1637458 25x106x15 C = 39   C1 = 28   D1 = 58
25 63.75 20.6 547 BA2B 633340 A 25x63.75x20.6 C = 34
25,2 38 7,9 491 307704 C 25,2x38x7,9 C = 15   T = 16
25,382 52 15 35 6205/25.382 2RS1 25,382x52x15
25,4 50,8 14,288 40 NIC.1641 DC 25,4x50,8x14,288
25,4 52 31 188 YET 205 100 25,4x52x31 C = 15
25,4 52 34,1 187 YAR 205 100 25,4x52x34,1 C = 15
25,4 52 44,4 1 YEL 205 100 25,4x52x44,4 C = 15
25,4 57,15 15,875 1 RLS 8 25,4x57,15x15,875
25,4 57,15 15,875 1 RLS 8/C3 25,4x57,15x15,875
25,4 57,15 15,875 20 RLS 8 Z 25,4x57,15x15,875
25,4 57,15 15,875 85 RLS 8 N 25,4x57,15x15,875 = 54.76   b = 1.35   a = 2.46
25,4 57,15 15,875 105 RLS 8 NR 25,4x57,15x15,875  = 62.08   S = 3.58   f = 1.12
25,4 57,15 18,31 105 613813 25,4x57,15x18,31 = 62.706   S = 3.58   f = 1.07
25,4 62 17 1 407883 B 25,4x62x17
25,4 63,5 19,05 1 RMS 8 25,4x63,5x19,05



26,222 47 9 480 613793 + 613791 B 26,222x47x9
26,222 49,171 10,4 480 440478 + 441271 26,222x49,171x10,4
26,222 50 16 480 613793 +613792 C 26,222x50x16
26,988 62 35,7 177 YET 206 101 CW 26,988x62x35,7 C = 18
26,988 62 35,7 186 YET 206 101 26,988x62x35,7 C = 18
27 52 43 27 KW DO2 G3 CA 102 27x52x43 R.T. SENTRA SUNNY
27 52 43 27 KW DO2 G3 CA 102 27x52x43 R.T. SENTRA SUNNY
27 55 15 1 613392 A 27x55x15
27 60 50 DAC 2760050 27x60x50 R.T. SENTRA
27 60 50 DAC 2760050 27x60x50 R.T. SENTRA
27 62 17 1 BB1B 417149 27x62x17
27 80 50 60 DAC 27800060 27x80x50 R.T. NISSAN SENTRA 
27 80 50 60 DAC 27800060 27x80x50 R.T. NISSAN SENTRA 
27,2 68 18 1 362429 27,2x68x18
27,5 73 31 585 613393 C 27,5x73x31 D1 = 78
27,995 66 21,55 8 362387 27,995x66x21,55 C = 14.55
27,995 66,013 18 1 362294 B 27,995x66,013x18 C = 14.5
28 58 15 1 BB1B 362847 28x58x15
28 58 16 1 62/28 28x58x16
28 58 16 1 62/28/C3 28x58x16
28 58 16 1 62/28/C4 28x58x16
28 58 16 35 62/28 2RS1 28x58x16
28 58 42 28 BW DO 3 A CA 51 JRM 2858 28x58x42 RD ZUZUKI CARRIER
28 58 42 28 BW DO 3 A CA 51 JRM 2858 28x58x42 RD ZUZUKI CARRIER
28 58 16     42 35 62/28 2RS1/C3    KIT 1979 28x58x16     42
28 61 42 DAC 286142 AWCS40 28x61x42 R.T. COROLLA
28 61 42 DAC 286142 AWCS40 28x61x42 R.T. COROLLA
28 66 18 1 361024 A 28x66x18
28 67 18 105 616034 A  C.C.F = 11607,1 INA 28x67x18 D2 = 73.6   S = 4.98   f = 1.7
28 67 18 214 BAQB 633061 A 28x67x18 D2 = 73.6   S = 4.98   f = 1.7
28 67 18 214 BAQB 633061 B 28x67x18 D2 = 73.6   S = 4.98   f = 1.7
28 67 27 550 BA2B 445029 28x67x27   D1 = 64   b = 1.9   a = 3.28
28 67 25.4 550 442349 A 28x67x25.4   D1 = 64   b = 1.9   a = 3.28
28 67 25.8 550 BA2B 446078 28x67x25.8   D1 = 64   b = 1.9   a = 3.28
28 67 28.2 550 BA2B 444455 A 28x67x28.2   D1 = 64   b = 1.9   a = 3.28
28 68 17 85 BB1B 362937 A 28x68x17 D1 = 64.82   b = 1.9   a = 3.28
28 68 18 1 63/28 28x68x18
28 68 18 1 BB1B 362680 A 28x68x18
28 68 18 105 63/28 NR 28x68x18 D2 = 74.6   S = 4.98   f = 1.7
28 68 18 105 63/28  NR/C3 28x68x18 D2 = 74.6   S = 4.98   f = 1.7
28 68 18 105 63/28  NR/630266 28x68x18 D2 = 74.6   S = 4.98   f = 1.7
28 75 19 85 BB1B 445924 28x75x19 D1 = 71.83   b = 1.9   a = 3.28
28 75 19 105 610251 C 28x75x19 D2 = 8.4   S = 4.98   f = 1.7
28 75 20 1 BB1B 362021 28x75x20
28,219 38,1 7,899 470 UBC.CIAR 3552 A 28,219x38,1x7,899
28,4 37,74 12 300 BJ2B 302065 E 28,4x37,74x12
28,575 53,975 9,525 1 EE 10 28,575x53,975x9,525
28,575 62 35,7 186 YET 206 102 28,575x62x35,7 C = 18
28,575 62 48,4 187 YEL 206 102 28,575x62x48,4 C = 18
28,575 63,5 15,875 1 RLS 9 28,575x63,5x15,875
28,575 63,5 15,875 1 RLS 9/C3 28,575x63,5x15,875
28,575 71,438 20,638 1 RMS 9 28,575x71,438x20,638
28,575 71,438 20,638 1 RMS 9/C3 28,575x71,438x20,638
28,575 71,438 20,638 1 RMS 9/C4 28,575x71,438x20,638
28,575 71,438 20,638 105 RMS 9 NR 28,575x71,438x20,638 D2 = 78.6   S = 4.98   f = 1.7
29 53 37 BT2B 445539 CC 29x53x37 Rod rda trasera Renaul 19        25 52 37 trasero  Peugeot 206
29 53 37 BT2B 445539 CC 29x53x37 Rod rda trasera Renaul 19        25 52 37 trasero  Peugeot 206
29 42.6 12 491 611749 A 29x42.6x12 C = 11   T = 14.9
29,235 132,2 71,3 598 BARB 243823 AB 29,235x132,2x71,3 7   S = 10   a = 12.7   d1 = 68
29,995 72 19 85 362300 B 29,995x72x19 a = 3.28   b = 1.9
30 37 4 6706 30x37x4
30 42 7 1 61806 30x42x7
30 42 7 6806 30x42x7
30 47 9 6906 30x47x9
30 55 9 1 16006 30x55x9
30 55 13 1 6006 30x55x13
30 55 13 1 6006/C3 30x55x13



30 55 19 35 63006 2RS1/C4 30x55x19
30 57 9 391 616471 A 30x57x9 C = 16.5   T = 12.5
30 57 13 43 441754 D 30x57x13 C = 24
30 57 13 137 630804 AA 30x57x13 C = 31.6
30 57 24 519 441451 C 30x57x24
30 58 16 1 BB1M 30 362525 A 30x58x16
30 60 37 527 305964 EA 30x60x37
30 60 37 37 3313 = 633095 = DAC 306037= 30x60x37 R.T. SAMARA - FIAT 147
30 60 37 37 3313 = 633095 = DAC 306037= 30x60x37 R.T. SAMARA - FIAT 147
30 62 16 1 6206 30x62x16
30 62 16 1 6206/C2 30x62x16
30 62 16 1 6206/C3 30x62x16
30 62 16 1 6206/C4 30x62x16
30 62 16 1 6206 ETN9/C3VB085 30x62x16
30 62 16 1 6206 TB 30x62x16
30 62 16 1 6206/344146 30x62x16
30 62 16 1 6206/C3/361781 30x62x16
30 62 16 1 362357/C3 30x62x16
30 62 16 1 412399 30x62x16
30 62 16 20 6206 Z 30x62x16
30 62 16 20 6206 Z/C4 30x62x16
30 62 16 25 6206 2Z 30x62x16
30 62 16 30 6206 RS1 30x62x16
30 62 16 30 6206 RS1/C3 30x62x16
30 62 16 30 6206 RS1/C4 30x62x16
30 62 16 33 6206 RS1/C3R196 30x62x16
30 62 16 35 6206 2RS1 30x62x16
30 62 16 35 6206 2RS1/HT12 30x62x16
30 62 16 35 6206 2RS1/C3 30x62x16
30 62 16 35 6206 2RS1/C3LHT30 30x62x16
30 62 16 35 6206 2RS1/C4 30x62x16
30 62 16 35 6206 2RS1/C4LHT30 30x62x16
30 62 16 35 T 6206 2RS1K 30x62x16
30 62 16 35 412419 30x62x16
30 62 16 38 6206 2LS/C3MT33 30x62x16
30 62 16 51 1861373 30x62x16
30 62 16 85 6206 N 30x62x16 D1 = 56.61   b = 1.9   a = 3.28
30 62 16 85 6206 N/C3 30x62x16 D1 = 56.61   b = 1.9   a = 3.28
30 62 16 85 6206 EN/C3VE012 30x62x16 D1 = 56.61   b = 1.9   a = 3.28
30 62 16 85 407664 B 30x62x16 D1 = 59.61   b = 1.9   a = 10.8
30 62 16 90 6206 ZN 30x62x16 D1 = 56.61   b = 1.9   a = 3.28
30 62 16 90 361580 BD 30x62x16 D1 = 59.6   b = 1.9   a = 3.18
30 62 16 102 BB1B 362978 A 30x62x16 D1 = 56.61   b = 1.9   a = 3.28
30 62 16 105 6206 NR 30x62x16 D2 = 67.7   S = 4.98   f = 1.7
30 62 16 105 6206 NR/C3 30x62x16 D2 = 67.7   S = 4.98   f = 1.7
30 62 16 110 6206 ZNR 30x62x16 D2 = 67.7   S = 4.98   f = 1.7
30 62 16 110 6206 ZNR/C3 30x62x16 D2 = 67.7   S = 4.98   f = 1.7
30 62 16 120 6206 2RS1NR 30x62x16 D2 = 67.7   S = 4.98   f = 1.7
30 62 16 125 614387 30x62x16 D1 = 68
30 62 16 182 1726206 2RS1 30x62x16
30 62 16 215 309334 30x62x16 D1 = 66.8   S = 3
30 62 16 225 206 30x62x16
30 62 16 230 206 Z 30x62x16
30 62 16 242 206 NR 30x62x16 D2 = 67.7   S = 4.98   f = 1.7
30 62 16 242 206 NR/C3 30x62x16 D2 = 67.7   S = 4.98   f = 1.7
30 62 16 300 1206 30x62x16
30 62 16 300 T 1206 K 30x62x16
30 62 16 352 440270 30x62x16 T = 17.25
30 62 17 56 360137 AA 30x62x17
30 62 19 38 361165 30x62x19 C = 16
30 62 19 66 414228 30x62x19 C = 16   T = 20
30 62 20 35 62206 2RS1 30x62x20
30 62 20 35 62206 2RS1/C3 30x62x20
30 62 20 35 62206 2RS1/C3MT80 30x62x20
30 62 20 260 4206 A 30x62x20
30 62 20 300 2206 30x62x20
30 62 21 50 415696 B 30x62x21



30 62 23.8 527 431919 A 30x62x23.8
30 62 23.8 530 BA2B 633491 30x62x23.8 C = 28
30 62 23.8 560 3206 NR/C3 30x62x23.8 D2 = 67.7   S = 4.98   f = 1.7
30 62 23.8 580 611500 B/C3 30x62x23.8 D1 = 68   S = 4   a = 14.8
30 62 35.7 186 YET 206 30x62x35.7 C = 18
30 62 48.4 187 YEL 206 30x62x48.4 C = 18
30 62 48.4 187 YEL 206 WU 30x62x48.4 C = 18
30 65 21 35 BB1B 630374/C4 30x65x21        6145 93
30 65 21 21 360374 = 614593 30x65x21 R.T. FIAT 125 - 131 - 132 
30 65 21 21 360374 = 614593 30x65x21 R.T. FIAT 125 - 131 - 132 
30 67 17 1 440434 30x67x17
30 67 17 94 440359 2RS1 30x67x17 D1 = 63.7   b = 1.9   a = 2.2
30 67 24 55 361971 CE 30x67x24
30 72 19 1 6306 30x72x19
30 72 19 1 6306/C3 30x72x19
30 72 19 1 6306/C3VB005 30x72x19
30 72 19 1 6306/C4 30x72x19
30 72 19 1 6306/C5 30x72x19
30 72 19 1 6306 TN/C3 30x72x19
30 72 19 1 UBC.6306X/C3 30x72x19
30 72 19 1 240463 30x72x19
30 72 19 20 6306 Z 30x72x19
30 72 19 20 6306 Z/C3 30x72x19
30 72 19 25 6306 2Z 30x72x19
30 72 19 30 6306 RS1 30x72x19
30 72 19 30 6306 RS1/C4 30x72x19
30 72 19 35 6306 2RS1 30x72x19
30 72 19 35 6306 2RS1/C2 30x72x19
30 72 19 35 6306 2RS1/C3 30x72x19
30 72 19 35 6306 2RS1/C4     RDT ZARA 30x72x19
30 72 19 35 616480 B 30x72x19
30 72 19 85 6306 N 30x72x19 D1 = 68.81   b = 1.9   a = 3.28
30 72 19 85 6306 N/C3 30x72x19 D1 = 68.81   b = 1.9   a = 3.28
30 72 19 85 6306 NTN9/C3 30x72x19 D1 = 68.81   b = 1.9   a = 3.28
30 72 19 85 402082 30x72x19 D1 = 68.5   b = 2   a = 4.47
30 72 19 85 441035 30x72x19 D1 = 68.81   b = 2.5   a = 2.7
30 72 19 90 6306 ZN/C3 30x72x19 D1 = 68.81   b = 1.9   a = 3.28
30 72 19 94 6306 2RS1N/C3 30x72x19 D1 = 68.81   b = 1.9   a = 3.28
30 72 19 102 361727 BC 30x72x19 D1 = 69.5   b = 1.9   a = 3.28
30 72 19 102 361727 BD 30x72x19 D1 = 68.81   b = 1.9   a = 3.28
30 72 19 105 6306 NR 30x72x19 D2 = 78.6   S = 4.98   f = 1.7
30 72 19 105 6306 NR/C3 30x72x19 D2 = 78.6   S = 4.98   f = 1.7
30 72 19 105 6306 ENRTN/C4 30x72x19 D2 = 78.6   S = 4.98   f = 1.7
30 72 19 105 6306 NRTN/C3VM010 30x72x19 D2 = 78.6   S = 4.98   f = 1.7
30 72 19 105 241933 B 30x72x19 D2 = 78.6   S = 4.98   f = 1.7
30 72 19 105 615721 A 30x72x19 D2 = 78.6   S = 4.98   f = 1.7
30 72 19 110 6306 ZNR 30x72x19 D2 = 78.6   S = 4.98   f = 1.7
30 72 19 110 6306 ZNR/C3 30x72x19 D2 = 78.6   S = 4.98   f = 1.7
30 72 19 110 6306 E ZNRTN9/HE1C4 30x72x19 D2 = 78.6   S = 4.98   f = 1.7
30 72 19 113 6306 ZNBR 30x72x19 D2 = 78.6   S = 4.98   f = 1.7
30 72 19 182 1726306 2RS1 30x72x19
30 72 19 202 305565 A 30x72x19 D1 = 68.81   b = 1.9   a = 3.28
30 72 19 205 QJ 306 MA 30x72x19
30 72 19 205 QJ 306 MA/C3 30x72x19
30 72 19 206 QJ 306 NMA/C3 30x72x19 D1 = 68.81   b = 1.9   a = 3.28
30 72 19 206 305604 B 30x72x19 D1 = 68.81   b = 1.9   a = 3.28
30 72 19 206 305974 30x72x19 D1 = 68.81   b = 1.9   a = 3.28
30 72 19 225 306 30x72x19
30 72 19 300 1306 30x72x19
30 72 19 350 7306 B 30x72x19
30 72 19 350 7306 BG 30x72x19
30 72 24 37 R BB1B 243208 30x72x24 B1 = 40   C = 16
30 72 27 260 4306 A 30x72x27
30 72 27 300 2306 30x72x27
30 72 28 52 BB1B 411280 AB 30x72x28 C = 25
30 72 28 71 408073 B 30x72x28 C = 20
30 72 28,3 55 441500 A 30x72x28,3 C = 25



30 76 33,4 585 BA2B 445427 30x76x33,4 D1 = 82.55   C = 25.9   S = 7
30 80 17 85 6307 VAR 30x80x17 D1 = 76.81   b = 1.9   a = 3.28
30 80 21 1 BB1B 362804 30x80x21 C = 20
30 80 35 80 6208 K + H 208/30 D 30x80x35 C = 18   B1 = 11
30 90 23 1 6406 30x90x23
30 90 23 85 6406 N 30x90x23 D1 = 86.79   b = 2.7   a = 3.28
30 90 23 105 6406 NR/C3 30x90x23 D2 = 96.5   S = 5.74   f = 2.46
30 117 37 592 BA2B 633200 C 30x117x37 58   C = 61   S = 11   a = 17
30 117 37 592 BA2B 633265 C 30x117x37 59   C = 61   S = 10   a = 17
30 131 43 595 BAFB 243822 D 30x131x43 D1 = 65   C = 63   S = 11
30 2.25 .4375 30x2.25x.4375
30 56.2 13 392 440639 30x56.2x13 C = 16.6   T = 16
30 56.3 26 410 360771 A 30x56.3x26 T = 27.5   T1 = 20
30 60.03 37 527 BA2B 633464 30x60.03x37
30 60.03 37 538 BA2B 633313 C 30x60.03x37
30 61.4 16 1 360466 30x61.4x16
30 68.3 19 102 BB1B 362699 B 30x68.3x19 D1 = 64.82   b = 1.9   a = 3.28
30,162 62 35,7 186 YET 206 103 30,162x62x35,7 C = 18
31 55 13 1 6006/31 31x55x13
31 63 414871 31x63x C = 30
31 120 2 31x120x 57   C = 61   S = 12   a = 19
31 120 BAFB 309971 B 31x120x 57   C = 61   S = 12   a = 19
31,255 62 16 1 1700111 31,255x62x16
31,255 62 16 85 6206 VBF 31,255x62x16 = 59.38   a = 3.36   b = 2.49
31,75 2,75 0,6875 31,75x2,75x0,6875
31,75 2,75 0,6875 31,75x2,75x0,6875
31,75 2,75 0,6875 31,75x2,75x0,6875
31,75 2,75 0,6875 31,75x2,75x0,6875
31,75 2,75 0,6875 31,75x2,75x0,6875
31,75 2,75 0,6875 31,75x2,75x0,6875
31,75 2,75 0,6875 31,75x2,75x0,6875
31,75 3,125 0,875 31,75x3,125x0,875
31,75 3,125 0,875 31,75x3,125x0,875
31,75 3,125 0,875 31,75x3,125x0,875
31,75 3,125 0,875 31,75x3,125x0,875
31,75 62 16 409945      8001 31,75x62x16
31,75 62 21,18 350 BA1B 417342 A 31,75x62x21,18 C = 15.98
31,75 62 35.7 186 YET 206 104 31,75x62x35.7 C = 18
31,75 62 ----- 504 BA2B 417387 31,75x62x----- C = 15.98   2B = 42.36
31,75 62,021 21,18 350 BA1B 633298 31,75x62,021x21,18 C = 10
31,75 69,85 17,462 1 RLS 10 31,75x69,85x17,462
31,75 69,85 17,462 1 RLS 10/C3 31,75x69,85x17,462
31,75 69,85 17,462 20 RLS 10 Z 31,75x69,85x17,462
31,75 69,85 17,462 35 RLS 10 2RS1 31,75x69,85x17,462
31,75 69,85 17,462 105 414906 31,75x69,85x17,462 2 = 76.38   S = 4.77   f = 1.7
31,75 69,85 17,462 300 RL 10 31,75x69,85x17,462
31,75 69,85 17,462 350 406270 31,75x69,85x17,462
31,75 72 38,9 186 YET 207 104 31,75x72x38,9 C = 19
31,75 72 42,9 188 YAR 207 104 31,75x72x42,9 C = 19
31,75 79,375 22,225 1 RMS 10 31,75x79,375x22,225
31,75 79,375 22,225 1 RMS 10/C3 31,75x79,375x22,225
31,75 79,375 22,225 85 RMS 10 N 31,75x79,375x22,225 D1 = 76.2   b = 2.1   a = 3.28
31,75 79,375 22,225 105 RMS 10 NR 31,75x79,375x22,225  = 85.725   S = 4.98   f = 1.7
31,928 63,5 40,6 412 414187 B 31,928x63,5x40,6 T = 42.11
31,928 68,262 38,1 432 407792 B 31,928x68,262x38,1 T = 38.1   T1 = 24.64
31,97 66,1 25 454 BRUB 307619 31,97x66,1x25 T = 33.6   T1 = 18.7
32 57 30.5 420 238082 32x57x30.5 C = 25.5   T = 43

32 58 57 65 4t cri 0685 32x58x57
CRI 0685 CS 110 R/T 
SUBARU 1.8 PICK UP

32 58 57 65 4t cri 0685 32x58x57
CRI 0685 CS 110 R/T 
SUBARU 1.8 PICK UP

32 65 17 1 62/32 32x65x17
32 65 17 1 62/32/C3 32x65x17
32 65 17 1 62/32/C4 32x65x17
32 65 21 35 622/32 2RS1 32x65x21
32 72 19 1 6306/32/VB025 32x72x19
32 72 19 35 6306/32 2RS1/C4VB038 32x72x19
32 72 28 52 415690 32x72x28 C 25



33 57 30.5 421 240249 33x57x30.5 C = 18.5   T = 36
33 80 21 105 UBC.1030 33x80x21 D2 = 86.6   S = 4.98   f = 1.7
33,122 63,5 41,15 412 414659 TN 33,122x63,5x41,15 T = 42.672
33,325 67 24 37 440482 33,325x67x24 C = 17
33,338 63,5 50,8 528 BA2B 417308 33,338x63,5x50,8 C = 47.752
33,338 72 38,9 186 YET 207 105 33,338x72x38,9 C = 19
33,4 69,6 29,63 449 360802 33,4x69,6x29,63 T = 36.8   T1 = 25.88
33,4 69,6 29,63 448 362218 33,4x69,6x29,63 T = 38.4   T1 = 27.48
33,71 69,6 31,35 448 362220 33,71x69,6x31,35
34 62 37 538 309724 B 34x62x37
34 62 37 DAC 346237 34x62x37
34 62 37 DAC 346237 34x62x37
34 64 37 538 309726 BA 34x64x37
34 64 37 538 309726 BD 34x64x37

34 64 37 37 640037 BA2B 309726 CR 008 34x64x37
R.D. DAEWO - GEMINI - 
LADA SAMARA

34 64 37 37 640037 BA2B 309726 CR 008 34x64x37
R.D. DAEWO - GEMINI - 
LADA SAMARA

34 66 37 37 660037 = 580400 = F 110487 34x66x37

WOLS GOLF - R.D. 
VECTRA - OPEL COMBO- 
CORSA

34 66 37 37 660037 = 580400 = F 110487 34x66x37

WOLS GOLF - R.D. 
VECTRA - OPEL COMBO- 
CORSA

34 68 24 38 R 1700290 R 34x68x24 C = 21
34 68 24 38 R RWF 34 R 34x68x24
34,09 96 ---- 464 307641 D 34,09x96x---- C = 9   T = 25   T1 = 14.5
34,112 69 33,6 441 307711 34,112x69x33,6 D1 = 69.8   T = 35
34,925 69,85 29,369 430 NIC.N 1488 34,925x69,85x29,369 T = 31.115   T1 = 16.034
34,925 69,85 30,559 430 NIC.N 1430 34,925x69,85x30,559 T = 32.147   T1 = 17.066
34,925 69,85 ---- 412 NIC.N1178 34,925x69,85x---- T = 41.275   T1 = 22.5
34,925 71,438 46,036 412 G CT 22 34,925x71,438x46,036 T = 47.625   T1 = 31.75
34,925 71,438 ---- 412 1828560 34,925x71,438x---- T = 32.4   T1 = 17.3
34,925 72 38,9 186 YET 207 106 34,925x72x38,9 C = 19
34,925 72 42,9 188 YAR 207 106 34,925x72x42,9 C = 19
34,925 72 51,1 187 YEL 207 106 34,925x72x51,1 C = 19
34,925 76,2 17,462 1 RLS 11 34,925x76,2x17,462
34,925 76,2 17,462 350 ALS 11 34,925x76,2x17,462
34,925 88,4 22,225 1 RMS 11 LOC 34,925x88,4x22,225
34,925 88,9 22,225 1 RMS 11 34,925x88,9x22,225
34,96 66,1 24 454 307642 DB 34,96x66,1x24 T = 32.6   T1 = 18.7
34,96 67,6 31,5 440 361822 AA 34,96x67,6x31,5 T = 33.86   T1 = 18.87
34,96 67,6 31,5 440 361822 AB 34,96x67,6x31,5 T = 33.86   T1 = 18.87
35 47 7 6807 35x47x7
35 50 8 470 OW 355927 35x50x8
35 55 10 6907 35x55x10
35 57 25 262 630047 35x57x25
35 62 9 1 16007 35x62x9
35 62 9 1 16007/C3 35x62x9
35 62 14 1 6007 35x62x14
35 62 14 1 6007/C2 35x62x14
35 62 14 1 6007/C3 35x62x14
35 62 14 1 361970/C2 35x62x14
35 62 14 25 6007 2Z 35x62x14
35 62 14 30 6007 RS1 35x62x14
35 62 14 35 6007 2RS1 35x62x14
35 62 14 35 6007 2RS1/LT10 35x62x14
35 62 14 85 6007 N 35x62x14 1 = 59.61   b = 1.9   a = 2.08
35 62 14 110 6007 ZNR 35x62x14 D2 = 67.7   S = 3.78   f = 1.7
35 62 31 DAC 3562 35x62x31 SWIF
35 62 31 DAC 3562 35x62x31 SWIF
35 62 31.5 420 238949 35x62x31.5 C = 21   T = 38.5
35 64 37 DAC 356437 35x64x37 R.D. DAIHATSU GIRO
35 64 37 DAC 356437 35x64x37 R.D. DAIHATSU GIRO
35 65 35 DAC 356535 =443952 AC 35x65x35  
35 65 35 DAC 356535 =443952 AC 35x65x35  
35 66 32 32 DAC 35660032 = 445980 A 35x66x32 R.D CITROEN AX
35 66 32 32 DAC 35660032 = 445980 A 35x66x32 R.D CITROEN AX
35 66 33 633576 35x66x33 R D FIAT TIPO



35 68 30 33 5 WDO 7 CA 123 DAC 356800 35x68x30
RD NISSAN MARCH RD 
TOYOTA STARLET

35 68 37 538 BA2B 633295 B 35x68x37

35 68 37 37 35680037 BA2B 633295 (4300 35x68x37
R.D. FIAT RITMO 128 
DUNA REGA - FIORINO

35 68 37 37 35680037 BA2B 633295 (4300 35x68x37
R.D. FIAT RITMO 128 
DUNA REGA - FIORINO

35 70 17,5 383,1 RW 507 35x70x17,5
35 72 17 1 6207     RW 507 35x72x17
35 72 17 1 6207/C3 35x72x17
35 72 17 1 6207/C4 35x72x17
35 72 17 1 6207 ETN9/C3 35x72x17
35 72 17 1 6207/344146 35x72x17
35 72 17 1 361079 35x72x17
35 72 17 1 361362 35x72x17
35 72 17 20 6207 Z 35x72x17
35 72 17 20 6207 Z/C3 35x72x17
35 72 17 25 6207 2Z 35x72x17
35 72 17 30 6207 RS1 35x72x17
35 72 17 33 6207 RS1/MT33BR196 35x72x17
35 72 17 35 6207 2RS1 35x72x17
35 72 17 35 6207 2RS1/C3 35x72x17
35 72 17 35 6207 2RS1/C4 35x72x17
35 72 17 35 6207 2RS1/LHT30 35x72x17
35 72 17 35 6207 2RS1/C4LHT30 35x72x17
35 72 17 51 1861388 35x72x17
35 72 17 85 UBC.1105 35x72x17 D1 = 68.81   b = 1.9   a = 3.28
35 72 17 85 UBC.U1270 35x72x17 D1 = 68.81   b = 1.9   a = 3.28
35 72 17 85 6207 N 35x72x17 D1 = 68.81   b = 1.9   a = 3.28
35 72 17 85 6207 N/C3 35x72x17 D1 = 68.81   b = 1.9   a = 3.28
35 72 17 85 6207 N/C4 35x72x17 D1 = 68.81   b = 1.9   a = 3.28
35 72 17 85 237727 35x72x17 D1 = 67.8   b = 1.9   a = 3.28
35 72 17 90 6207 ZN 35x72x17 D1 = 68.81   b = 1.9   a = 3.28
35 72 17 90 6207 ZN/C3 35x72x17 D1 = 68.81   b = 1.9   a = 3.28
35 72 17 90 360908 BD 35x72x17 D1 = 68.81   b = 1.9   a = 3.28
35 72 17 105 6207 NC 35x72x17 D2 = 76.8   S = 4.98   f = 1.7
35 72 17 105 6207 NR 35x72x17 D2 = 78.6   S = 4.98   f = 1.7
35 72 17 105 6207 NR/C3 35x72x17 D2 = 78.6   S = 4.98   f = 1.7
35 72 17 105 414907 35x72x17 D2 = 78.4   S = 4.77   f = 1.7
35 72 17 110 6207 ZNR 35x72x17 D2 = 78.6   S = 4.98   f = 1.7
35 72 17 110 6207 ZNR/C3 35x72x17 D2 = 78.6   S = 4.98   f = 1.7
35 72 17 110 UBC.1095 35x72x17 D2 = 76.9   S = 4.98   f = 1.7
35 72 17 182 1726207 2RS1 35x72x17
35 72 17 225 207 35x72x17
35 72 17 230 207 Z 35x72x17
35 72 17 235 207 N 35x72x17 D1 = 68.81   b = 1.9   a = 3.28
35 72 17 242 207 NR 35x72x17 D2 = 78.6   S = 4.98   f = 1.7
35 72 17 245 207 ZNR 35x72x17 D2 = 78.6   S = 4.98   f = 1.7
35 72 17 300 1207 35x72x17
35 72 17 300 T 1207 K 35x72x17
35 72 17 350 7207 B 35x72x17
35 72 20 38 361164 35x72x20 C = 17
35 72 21 31 BB1B 417145 35x72x21 C = 17
35 72 23 260 4207 A 35x72x23
35 72 23 300 2207                   RW 507 35x72x23
35 72 24 55 414406 A 35x72x24
35 72 25 37 10G 88107 35x72x25 C = 17
35 72 25 37 12G 88107 35x72x25 C = 17
35 72 25 38 6207 VBE 35x72x25 C = 17
35 72 25 71 5G 88107 A 35x72x25 C = 17
35 72 25 71 5G 88507 35x72x25 C = 17
35 72 26 37 R BB1B 243209 35x72x26 C = 17   B1 = 44
35 72 27 510 3207 35x72x27
35 72 27 510 3207/C2 35x72x27
35 72 27 510 3207/C3 35x72x27
35 72 27 525 431700 A 35x72x27
35 72 27 525 609632 B 35x72x27
35 72 27 585 613744 D         441832.C.VISA 35x72x27 D1 = 76   S = 4



35 72 33 33 5720033 /31=BA2B 446762=4 35x72x33

R.D. PEUG 205 FIAT TIPO 
-  CITROEN ZX - 
TOY.TERCEL

35 72 34 DAC 35 BWD01 = F 108678 CCA 35x72x34 HONDA ACCORD
35 72 34 DAC 35 BWD01 = F 108678 CCA 35x72x34 HONDA ACCORD
35 72 37 539 241694 35x72x37
35 72 52 305 11207 35x72x52 C = 17
35 72 ---- 500 BA2B 243207 35x72x----
35 72 21.46 35 R 1700289 R           RW 207 35x72x21.46
35 72 23.5 46 2810498 35x72x23.5 C = 22.5
35 72 23.5 47 7406719 35x72x23.5 C = 22.5
35 72 38.9 186 YET 207 35x72x38.9 C = 19
35 72 51.1 187 YEL 207 35x72x51.1 C = 19
35 73,5 33,7 444296 35x73,5x33,7 R.T. CITROEN GS
35 73,5 33,7 444296 35x73,5x33,7 R.T. CITROEN GS
35 74 17 392 614542 35x74x17 C = 23.5   T = 22.5
35 75 20 85 440682 35x75x20 D1 = 71.83   b = 1.9   a = 3.28
35 75 20 85 630/32 35x75x20
35 77 17 1 BB1B 362020 B 35x77x17
35 80 17 85 6307 VAH 35x80x17 D1 = 76.81   b = 1.9   a = 3.28
35 80 21 1 6307 35x80x21
35 80 21 1 6307/C2 35x80x21
35 80 21 1 6307/C3 35x80x21
35 80 21 1 6307 ETN9/C3VB116 35x80x21
35 80 21 1 BB1B 362805 35x80x21 C = 20
35 80 21 20 6307 Z 35x80x21
35 80 21 20 6307 Z/C3 35x80x21
35 80 21 25 6307 2Z 35x80x21
35 80 21 30 6307 RS1 35x80x21
35 80 21 35 6307 2RS1 35x80x21
35 80 21 85 6307 N 35x80x21 D1 = 76.81   b = 1.9   a = 3.28
35 80 21 85 6307 N/C3 35x80x21 D1 = 76.81   b = 1.9   a = 3.28
35 80 21 85 228840 35x80x21 D1 = 76.8   b = 1.9   a = 3.25
35 80 21 85 361095 35x80x21 D1 = 76.81   b = 1.9   a = 3.28
35 80 21 90 6307 ZN 35x80x21 D1 = 76.81   b = 1.9   a = 3.28
35 80 21 90 409920 A Z 35x80x21 D1 = 77.5   b = 2.05   a = 3.9
35 80 21 105 6307 NR 35x80x21 D2 = 86.6   S = 4.98   f = 1.7
35 80 21 105 6307 NR/C3 35x80x21 D2 = 86.6   S = 4.98   f = 1.7
35 80 21 110 6307 ZNR 35x80x21 D2 = 86.6   S = 4.98   f = 1.7
35 80 21 181 1726307 RS1 35x80x21
35 80 21 182 1726307 2RS1 35x80x21
35 80 21 205 QJ 307/C2 35x80x21
35 80 21 215 309438 35x80x21 D1 = 85   S = 4
35 80 21 225 307 35x80x21
35 80 21 230 307 Z 35x80x21
35 80 21 230 307 Z/C3 35x80x21
35 80 21 242 307 NR 35x80x21 D2 = 86.6   S = 4.98   f = 1.7
35 80 21 242 307 NR/C3 35x80x21 D2 = 86.6   S = 4.98   f = 1.7
35 80 21 242 614421 35x80x21 D2 = 86.6   S = 4.98   f = 1.7
35 80 21 246 307 ZNR 35x80x21 D2 = 86.6   S = 4.98   f = 1.7
35 80 21 300 1307 35x80x21
35 80 21 350 7307 B 35x80x21
35 80 21 350 7307 BG 35x80x21
35 80 23 TM 11NX1C3 U 40 AUR UMML 705 35X80X23NR 
35 80 24 HC 6307 THL 1SL NR  35x80x24         
35 80 29 70 407305 35x80x29 C = 22
35 80 30 52 415691 B 35x80x30 C = 27
35 80 31 260 4307 A 35x80x31
35 80 31 300 2307 35x80x31
35 80 31 310 1208 K+H 208 35x80x31 C = 18   B1 = 10
35 80 34,9 510 3307 35x80x34,9
35 80 34,9 527 3307 D 35x80x34,9
35 80 36 310 2208 K+H 308 35x80x36 C = 23   B1 = 10
35 82 21 85 361986 E 35x82x21 D1 = 78.81   a = 3.28   b = 1.9
35 85 20 85 440971 A 35x85x20 D1 = 81.81   a = 3.28   b = 1.9
35 85 33 310 1209 K+H 209/35D 35x85x33 C = 19   B1 = 11
35 100 25 1 6407 35x100x25

/C 35 100 25



36 68 33 33 DAC 3668 WCS36 36x68x33 SUZUKI SWIF RD FORZA

36 74 50 50 DAC 36740050 36x74x50
R.D. NISSAN SENTRA 
SUNNY

36 74 50 50 DAC 36740050 36x74x50
R.D. NISSAN SENTRA 
SUNNY

36 76 27 29 440190 36x76x27
CITROEN RENAULT AMI 8 
AKS 330

36 76 27 29 440190 36x76x27
CITROEN RENAULT AMI 8 
AKS 330

36 76 29,25 527 BA2B 440190 C 36x76x29,25 C = 27
36,2 73 23,5/17,5 RWC 35 YYR 36,2x73x23,5/17,5
36,5 72 19 37 360643 36,5x72x19 C = 17
36,5 73 25 49 361985 BA 36,5x73x25 C = 24.5
36,512 68 15 25 411802 36,512x68x15
36,512 68 15 25 83549 36,512x68x15
36,512 68 15 25 45385 36,512x68x15
36,512 72 38,9 186 YET 207 107 36,512x72x38,9 C = 19
36,512 72 42,9 188 YAR 207 107 36,512x72x42,9 C = 19
36,54 85 32 425 1782986 36,54x85x32 C.U   T345+sleeve 1935565
36,588 72 17 1 360293 36,588x72x17
36,588 78 15 5385 36,588x78x15 FORD 6600
36,588 78 15 F 45385 36,588x78x15 INA
37 70 17 2 360972 A 37x70x17

37 72 33 33 BAH 0051 B 37x72x33

Rod rda del Peugeot 205 
1,4 1,5 83 2001 35 72 33  
C15 

37 72 33 33 BAH 0051 B 37x72x33

Rod rda del Peugeot 205 
1,4 1,5 83 2001 35 72 33  
C15 

37 72 37 527 305998 37x72x37
37 72 37 538 305987 37x72x37
37 72 37 538 BA2B 633028 CB 37x72x37

37 72 37 37 37 = 633531 =  633028 =  4512 37x72x37

R.D. ECLAIRE - RITMO - 
FORD - RENAULT 19 
FIORINO 98 DIESEL

37 72 37 37 37 = 633531 =  633028 =  4512 37x72x37

R.D. ECLAIRE - RITMO - 
FORD - RENAULT 19 
FIORINO 98 DIESEL

37 72 47 538 305855 CD 37x72x47
37 74 45 527 309945 A 37x74x45
37 74 45 538 309946 C 37x74x45
37 139 45 586 BAFB 446389 E 37x139x45
37 139 45 592 BAFB 446388 B 37x139x45
38 65 48 52 46TO80705 CCS 33 38x65x48 R.T. LEGACY
38 65 48 52 46TO80705 CCS 33 38x65x48 R.T. LEGACY
38 70 38 DAC 3870 DWCS 41 38x70x38 HYUNDAI Asian Prime
38 70 38 DAC 3870 DWCS 41 38x70x38 HYUNDAI Asian Prime
38 71 30 DAC 3871 W 2CS 70 38x71x30

38 71 30 33 WD 09 ACA 120 (DAC 387103 38x71x30
R.D. TERCEL YARIS  2005 
rd corolla 98

38 71 30 33 WD 09 ACA 120 (DAC 387103 38x71x30
R.D. TERCEL YARIS  2005 
rd corolla 98

38 71 39 DAC 3871 w3 38x71x39 yaris nuevo 2006
38 71 39 DAC 3871 w3 38x71x39 yaris nuevo 2006
38 72 34 DAC 3872 38x72x34
38 72 34 DAC 3872 38x72x34
38 72 40 B8B VV 07 - 10 G 38x72x40
38 72 40 B8B VV 07 - 10 G 38x72x40
38 72,02 36 33 DAC 38720236/33 DAC 3872 W 38x72,02x36 TOYOTA COROLLA 88 
38 72,02 36 33 DAC 38720236/33 DAC 3872 W 38x72,02x36 TOYOTA COROLLA 88 

38 74 33 36 = 30 VWDO (DAC 38740236) 38x74x33
R.D. TOYOTA COROLLA 
/CELICA - NISSAN V 16

38 74 33 36 = 30 VWDO (DAC 38740236) 38x74x33
R.D. TOYOTA COROLLA 
/CELICA - NISSAN V 16

38 74 50 DAC 38740050 =  559192 38x74x50 R D NISSAN SENTRA 38
38 74 50 DAC 38740050 =  559192 38x74x50 R D NISSAN SENTRA 38
38 80 34,9 527 614594 B 38x80x34,9
38,1 68,262 14,288 1 W 6734 38,1x68,262x14,288
38,1 68,326 12,5 382 415441 TN 38,1x68,326x12,5 C = 19.63   T = 18.186
38,1 68,326 12,5 382 415600 TN 38,1x68,326x12,5 C = 19.63   T = 18.186
38,1 69 9 391 360385 A 38,1x69x9 C = 13.33   T = 12.4



38,252 63,5 14.224 381 307500 38,252x63,5x14.224 C = 12.7   T = 15.75
38,252 63,5 14.224 381 413708 38,252x63,5x14.224 C = 12.7   T = 15.75
38,252 63,5 14.224 381 413708 38,252x63,5x14.224 C = 12.7   T = 15.75
38,252 63,5 14.224 381 413708 38,252x63,5x14.224 C= 12.7   T= 15.75
38,252 63,5 12.6 381 307499 38,252x63,5x12.6 C = 13.7   T = 16.9
38,252 63,5 12.6 381 413564 38,252x63,5x12.6 C = 13.7   T = 16.9
38,892 80 25 48 361070 B 38,892x80x25
38,892 80 27.508 37 9G 88128 38,892x80x27.508 C= 21.006
38,892 80 27.508 37 R 9G 88128 R 38,892x80x27.508 C= 21.006
38,892 80 27.508 70 4G 88128 38,892x80x27.508 C= 21.006
38,894 80 27.508 37 407592 38,894x80x27.508 C= 21.031
38,993 72,043 38,993 BAH 0109 C 38,993x72,043x38,993 Rod rda del Ford Focus
38,993 72,043 38,993 BAH 0109 C 38,993x72,043x38,993 Rod rda del Ford Focus
39 63,2 8.5 456 BRUB 445248 C 39x63,2x8.5 T= 14.5
39 68 37 538 BA2B 309692      T1 VOLVO 39x68x37

39 68 37 37 = BA2B 309396 = 311315 F 4 39x68x37

R.D. SAVEIRO - AUDI - 
MERCUR  - GOL - 
PASSAT - GOLF - 
AMAZON

39 68 37 37 = BA2B 309396 = 311315 F 4 39x68x37

R.D. SAVEIRO - AUDI - 
MERCUR  - GOL - 
PASSAT - GOLF - 
AMAZON

39 72 37 542 BA2B 309639 AC 39x72x37
39 72 37 542 BA2B 309639 B 39x72x37

39 72 37 37 = BAHB 311396 = 309639 BAH 39x72x37
R.D. MONZA - DAEWOO 
ESPERO - ASKA

39 72 37 37 = BAHB 311396 = 309639 BAH 39x72x37
R.D. MONZA - DAEWOO 
ESPERO - ASKA

39 74 39 39 DAC 39740039 BAHB 636096 39x74x39

R.D. OPEL VECTRA rueda 
Del Opel Vectra año 96 al 
98

39 74 39 39 DAC 39740039 BAHB 636096 39x74x39

R.D. OPEL VECTRA rueda 
Del Opel Vectra año 96 al 
98

39 80 27 88128 R 39x80x27
40 52 7 6808 40x52x7
40 62 12 6908 40x62x12
40 62 20.6 1 907257 40x62x20.6
40 68 9 1 16008 40x68x9
40 68 9 1 16008/C3 40x68x9
40 68 9 160080 40x68x9
40 68 14 380 I 90888 B 40x68x14 C= 21   T= 15
40 68 15 1 6008 40x68x15
40 68 15 1 6008/C3 40x68x15
40 68 15 1 6008/C4 40x68x15
40 68 15 1 6008 MA/C3 40x68x15
40 68 15 20 6008 Z 40x68x15
40 68 15 25 6008 2Z 40x68x15
40 68 15 25 6008 2Z/C3 40x68x15
40 68 15 30 6008 RS1 40x68x15
40 68 15 30 6008 RS1/C3 40x68x15
40 68 15 35 6008 2RS1 40x68x15
40 68 15 35 6008 2RS1/HT12B 40x68x15
40 68 15 35 6008 2RS1/LT10 40x68x15
40 68 15 85 6008 N 40x68x15 D1= 64.82   b= 1.9   a= 2.49
40 68 15 105 6008 NR 40x68x15 D2 = 74.6   S = 4.19   f = 1.7
40 68 15 225 616919 40x68x15
40 68 22.5 41 441096 BR 40x68x22.5 C= 15
40 69,2 9 397 306784 C 40x69,2x9 C= 18.6   T= 14
40 69,6 9 391 360881 A 40x69,6x9 C = 16   T = 12.7
40 69,6 9 395 241841 B 40x69,6x9 C = 16.3   T = 12.8
40 69,6 12 392 440561 R 40x69,6x12 C = 15.8   T = 15.8
40 69,6 15 392 360540 40x69,6x15 C = 20.5   T = 19
40 70 9 391 616524 A 40x70x9 C = 18   T = 14

40 72 37 37 40720037 = BAHB 311443 (45 40x72x37
R.D. GOLF JETTA - 
PASSAT - VW

40 72 37 37 40720037 = BAHB 311443 (45 40x72x37
R.D. GOLF JETTA - 
PASSAT - VW

40 74 36 34 DAC 4074 40x74x36 R.D. ANTRA
40 74 36 34 DAC 4074 40x74x36 R D ANTRA



40 80 18 1 6208/361612 40x80x18
40 80 18 1 6208/C4 40x80x18
40 80 18 1 6208 ETN9 40x80x18
40 80 18 20 6208 Z 40x80x18
40 80 18 20 6208 Z/C3 40x80x18
40 80 18 25 6208 2Z 40x80x18
40 80 18 25 6208 2Z/C3 40x80x18
40 80 18 30 6208 RS1 40x80x18
40 80 18 30 6208 RS1/C3 40x80x18
40 80 18 35 6208 2R1 40x80x18
40 80 18 35 6208 2RS1/C3 40x80x18
40 80 18 35 6208 2RS1/C4 40x80x18
40 80 18 35 6208 2RS1/C5 40x80x18
40 80 18 35 T 6208 2RS1K 40x80x18
40 80 18 38 6208 2LSTN9/C3 40x80x18
40 80 18 85 6208 N 40x80x18 D1 = 76.81   b = 1.9   a = 3.28
40 80 18 85 6208 N/C3 40x80x18 D1 = 76.81   b = 1.9   a = 3.28
40 80 18 90 6208 ZN 40x80x18 D1 = 76.81   b = 1.9   a = 3.28
40 80 18 105 6208 NR 40x80x18 D2 = 86.6   S = 4.98   f = 1.7
40 80 18 105 6208 NR/C3 40x80x18 D2 = 86.6   S = 4.98   f = 1.7
40 80 18 105 6208 NRTN/C3 40x80x18 D2 = 86.6   S = 4.98   f = 1.7
40 80 18 105 6208 NR/C3VE002 40x80x18 D2 = 86.6   S = 5.03   f = 1.7
40 80 18 110 6208 ZNR 40x80x18 D2 = 86.6   S = 4.98   f = 1.7
40 80 18 110 6208 ZNR/C3 40x80x18 D2 = 86.6   S = 4.98   f = 1.7
40 80 18 118 6208 RS1NR 40x80x18 D2 = 86.6   S = 4.98   f = 1.7
40 80 18 125 630201 A 40x80x18 D1 = 86.5   S = 4
40 80 18 182 1726208 2RS1 40x80x18 C = 25
40 80 18 205 QJ 208 40x80x18
40 80 18 205 QJ 208/C2 40x80x18
40 80 18 205 QJ 208 MA 40x80x18
40 80 18 225 208 40x80x18
40 80 18 230 208 Z 40x80x18
40 80 18 232 208 2Z 40x80x18
40 80 18 242 208 NR 40x80x18 D2 = 86.6   S = 4.98   f = 1.7
40 80 18 300 1208 40x80x18
40 80 18 350 7208 B 40x80x18
40 80 18 353 431885 40x80x18 T = 18
40 80 22 32,5 441317 C 40x80x22
40 80 22 32,5 441317 C 40x80x22
40 80 23 35 62208 2RS1 40x80x23
40 80 23 35 62208 2RS1/C3 40x80x23
40 80 23 260 4208 A 40x80x23
40 80 23 300 2208 40x80x23
40 80 23 300 T 2208 K 40x80x23
40 80 27 37 G 88508 40x80x27 C = 21
40 80 31 545 BA2B 445469 BA 40x80x31

40 80 34 36 DAC 4080 BAHB 636187 A 40x80x34

R.D. MITSUBISHI GALANT 
(d. 1987) =RD HIUNDAY 
SONATA

40 80 34 36 DAC 4080 BAHB 636187 A 40x80x34

R.D. MITSUBISHI GALANT 
(d. 1987) =RD HIUNDAY 
SONATA

40 80 56 305 11208 40x80x56 C = 18
40 80 25.4 527 607652 A 40x80x25.4
40 80 30.2 510 3208 40x80x30.2 5208
40 80 30.2 510 3208/C2 40x80x30.2
40 80 30.2 525 440320 A 40x80x30.2
40 80 30.2 525 440320 H 40x80x30.2
40 80 30.2 527 613243 B/C3 40x80x30.2
40 80 30.2 565 3208 NR 40x80x30.2 D2 = 86.6   S = 4.98   f = 1.7
40 80 32.5 525 BA2B 445026 A 40x80x32.5 C = 22
40 80 43.7 186 YET 208 40x80x43.7 C = 21
40 80 56.3 187 YEL 208 108 40x80x56.3 C = 21
40 82 32,5 445097 40x82x32,5
40 82 32,5 445097 40x82x32,5
40 82 32.5 527 BA2B 445097 C 40x82x32.5 C = 22
40 82,5 18 141 361797 C 40x82,5x18 C = 53.5
40 85 19 1 6209/40 40x85x19



40 90 23 35 6308 2RS1 40x90x23
40 90 23 35 6308 2RS1/C4 40x90x23
40 90 23 56 361670 40x90x23 C = 25
40 90 23 85 6308 N 40x90x23 D1 = 86.79   b = 2.7   a = 3.28
40 90 23 85 6308 N/C3 40x90x23 D1 = 86.79   b = 2.7   a = 3.28
40 90 23 85 6308 N/C4 40x90x23 D1 = 86.79   b = 2.7   a = 3.28
40 90 23 90 306579 40x90x23 D1 = 86.8   b = 2.7   a = 3.25
40 90 23 105 6308 NR 40x90x23 D2 = 96.5   S = 5.74   f = 2.46
40 90 23 105 6308 NR/C3 40x90x23 D2 = 96.5   S = 5.74   f = 2.46
40 90 23 110 6308 ZNR 40x90x23 D2 = 96.5   S = 5.74   f = 2.46
40 90 23 182 1426308 2RS1 40x90x23
40 90 23 205 QJ 308 40x90x23
40 90 23 225 308 40x90x23
40 90 23 225 308/C3 40x90x23
40 90 23 230 308 Z 40x90x23
40 90 23 230 308 Z 40x90x23
40 90 23 235 308 N 40x90x23 D1 = 86.79   b = 2.7   a = 3.28
40 90 23 236 304227 40x90x23 B1 = 18.5   b = 2.7   a = 3.28
40 90 23 242 308 NR 40x90x23 D2 = 96.5   S = 5.74   f = 2.46
40 90 23 245 308 ZNR 40x90x23 D2 = 96.5   S = 5.74   f = 2.46
40 90 23 245 410462 40x90x23 D2 = 96.5   S = 5.74   f = 2.46
40 90 23 300 1308 40x90x23
40 90 23 350 7308 B 40x90x23
40 90 25 53 BB1B 445578 E 40x90x25
40 90 33 260 4308 A 40x90x33
40 90 33 300 2308 40x90x33
40 90 42 310 1210 K+H 310/40 D 40x90x42 C = 20   B1 = 12
40 90 36.5 510 3308 40x90x36.5
40 90 36.5 527 3308 D 40x90x36.5
40 110 27 1 6408 40x110x27
40 110 27 1 6408/C3 40x110x27
40 110 27 105 6408 NR 40x110x27  = 116.6   S = 5.74   f = 2.46
40 110 27 105 6408 NR/HE1C3 40x110x27  = 116.6   S = 5.74   f = 2.46
40 110 32.4 590 442377 D 40x110x32.4 C = 14.5
41 65,5 11.75 378 415280 C 41x65,5x11.75 C = 15.75   T = 15.75
41 68 35 40 WDO1 G3 CA54 (41KWDO1G 41x68x35 R.D. VITARA
41 68 35 40 WDO1 G3 CA54 (41KWDO1G 41x68x35 R.D. VITARA
41,275 71,438 14.275 381 413823 41,275x71,438x14.275 C = 12.7   T = 15.875
41,275 85 43.7 186 YET 209 110 41,275x85x43.7 C = 22
41,275 88,9 19.05 1 RLS 13 41,275x88,9x19.05
41,275 101,6 23.812 1 RMS 13 41,275x101,6x23.812
41,5 72 21 49 361914 C 41,5x72x21 C = 21
42 72 38 46 TO 80704 42x72x38 R.D. LEGACY
42 72 38 46 TO 80704 42x72x38 R.D. LEGACY
42 75 37 538 BA2B 633457 42x75x37
42 75 37 538 309245 A 42x75x37
42 75 37 DAC 42750037 42x75x37 alpha romeo
42 75 37 DAC 42750037 42x75x37 alpha romeo
42 76 39 JRM 4249 (TIMKEN) SET 49 42x76x39 DAKOTA
42 76 39 JRM 4249 (TIMKEN) SET 49 42x76x39 DAKOTA
42 80 34 428034 42x80x34
42 80 34 428034 42x80x34
42 80 42 538 305988 42x80x42
42 80 42 538 BA2B 309609 C 42x80x42
42 80 30.2 525 633188 42x80x30.2
42 82 36 542 BA2B 446047 E 42x82x36

42 82 36 36  42820036 CR 40 = 446047 C 42x82x36

R.D. PEUG. 205 - 306 - 9 - 
405 - CITROEN -BX 
XANTIA 2X

42 82 36 36  42820036 CR 40 = 446047 C 42x82x36

R.D. PEUG. 205 - 306 - 9 - 
405 - CITROEN -BX 
XANTIA 2X

42 84 34 525 440667 42x84x34
42 84 34 440667 42x84x34 R.T. PEUGEOT 564
42 84 34 440667 42x84x34 R.T. PEUGEOT 564
42 84 36 525 BA2B 444090 42x84x36

42 84 39 39 DAC 42840039 C558 42x84x39
R.D. TRAFIC  P. 605 - 
PEUG. 504
R D TRAFIC P 605



45 75 10 1 16009/C3 45x75x10
45 75 16 1 6009 45x75x16
45 75 16 1 6009/C2 45x75x16
45 75 16 1 6009/C3 45x75x16
45 75 16 20 6009 Z 45x75x16
45 75 16 25 6009 2Z 45x75x16
45 75 16 30 6009 RS1 45x75x16
45 75 16 35 6009 2RS1 45x75x16
45 75 16 35 6009 2RS1/LT10 45x75x16
45 75 16 105 6009 NR 45x75x16 D2 = 81.6   S = 4.19   f = 1.7
45 75 16 105 6009 NR/C3 45x75x16 D2 = 81.6   S = 4.19   f = 1.7
45 75 19 38 362186 B 45x75x19 C = 16
45 76,6 10 391 360553 45x76,6x10 C = 17   T = 14
45 83 44 538 615645 A 45x83x44
45 84 39 543 BAHB 309797 B 45x84x39
45 84 39 GB 40666 so1 45x84x39 Peugeot 605 citroen xm
45 84 39 GB 40666 so1 45x84x39 Peugeot 605 citroen xm
45 84,5 19 1 6209 LOC/C3 45x84,5x19
45 85 11 1 98209 45x85x11
45 85 14 209 V 45x85x14
45 85 19 1 6209 45x85x19
45 85 19 1 6209/C3 45x85x19
45 85 19 1 6209/C4 45x85x19
45 85 19 1 361080 45x85x19
45 85 19 1 T 6209 K 45x85x19
45 85 19 20 6209 Z 45x85x19
45 85 19 20 6209 Z/C3 45x85x19
45 85 19 25 6209 2Z 45x85x19
45 85 19 30 6209 RS1 45x85x19
45 85 19 30 6209 RS1/C4 45x85x19
45 85 19 35 6209 2RS1 45x85x19
45 85 19 35 T 6209 2RS1K 45x85x19
45 85 19 85 6209 N 45x85x19 D1 = 81.81   b = 1.9   a = 3.28
45 85 19 85 6209 N/C3 45x85x19 D1 = 81.81   b = 1.9   a = 3.28
45 85 19 85 6209 N/C4 45x85x19 D1 = 81.81   b = 1.9   a = 3.28
45 85 19 105 6209 NR 45x85x19 D2 = 91.6   S = 4.98   f = 1.7
45 85 19 105 6209 NR/C4 45x85x19 D2 = 91.6   S = 4.98   f = 1.7
45 85 19 110 6209 ZNR 45x85x19 D2 = 91.6   S = 4.98   f = 1.7
45 85 19 113 6209 ZNBR 45x85x19 D2 = 91.6   S = 4.98   f = 1.7
45 85 19 120 6209 2RS1NR/C3 45x85x19 D2 = 91.6   S = 4.98   f = 1.7
45 85 19 182 1726209 2RS1 45x85x19
45 85 19 205 QJ 209 45x85x19
45 85 19 205 QJ 209/C2 45x85x19
45 85 19 205 QJ 209 MA/C3 45x85x19
45 85 19 225 209 45x85x19
45 85 19 230 209 Z 45x85x19
45 85 19 235 209 N 45x85x19 D1 = 81.81   b = 1.9   a = 3.28
45 85 19 242 209 NR 45x85x19 D2 = 91.6   S = 4.98   f = 1.7
45 85 19 245 209 ZNR 45x85x19 D2 = 91.6   S = 4.98   f = 1.7
45 85 19 300 1209 45x85x19
45 85 19 300 T 1209 K 45x85x19
45 85 19 350 7209 B 45x85x19
45 85 23 38 361469 45x85x23 C = 19
45 85 23 260 4209 A 45x85x23
45 85 23 260 4209 ATN9/MT33VQ112 45x85x23
45 85 23 300 2209 45x85x23
45 85 27 70 410031 C 45x85x27 C = 19
45 85 30,2 510 3209 45x85x30,2
45 85 30,2 510 3209/C3 45x85x30,2
45 85 30,2 527 613111 B/C3 45x85x30,2
45 85 43,7 186 YET 209 45x85x43,7 C = 22
45 85 56,3 187 YEL 209 45x85x56,3 C = 22
45 85 58 305 11209 45x85x58 C = 19
45 96 34 538 633032 A 45x96x34
45 100 17 1 98309 45x100x17
45 100 21 1 N 309 L 45x100x21
45 100 25 1 6309 45x100x25



45 100 25 205 QJ 309/C2 45x100x25
45 100 25 206 QJ 309 NMA/C3 45x100x25 D1 = 96.8   b = 2.7   a = 3.28
45 100 25 225 309 45x100x25
45 100 25 230 309 Z 45x100x25
45 100 25 242 309 NR 45x100x25  = 106.5   S = 5.74   f = 2.46
45 100 25 242 309 NR/C3 45x100x25  = 106.5   S = 5.74   f = 2.46
45 100 25 242 309 NR/VB149 45x100x25  = 106.5   S = 5.74   f = 2.46
45 100 25 245 309 ZNR 45x100x25  = 106.5   S = 5.74   f = 2.46
45 100 36 300 2309 45x100x36
45 100 36 300 2309/C3 45x100x36
45 100 39,7 510 3309 45x100x39,7
45 100 39,7 510 3309/C2 45x100x39,7
45 100 39,7 527 3309 D 45x100x39,7
45 100 39,7 560 5309 NR 45x100x39,7  = 106.5   S = 5.74   f = 2.46
45 100 39,7 585 614919 A 45x100x39,7 D1 = 107   S = 5
45 100 60 305 11309 45x100x60 C = 25
45 120 29 1 6409 45x120x29
45 120 29 1 6409/C3 45x120x29
45 120 29 85 6409 N/C3 45x120x29 = 115.21   b = 3.1   a = 4.06
45 120 29 105 6409 NR 45x120x29  = 129.7   S = 6.88   f = 2.82
45 120 29 105 6409 NR/C3 45x120x29  = 129.7   S = 6.88   f = 2.82
45 120 29 350 7409 B 45x120x29
45 128,22 25 76 360263 A 45x128,22x25 C = 31.75
45,2 80 20,2 17887/31 45,2x80x20,2
46,038 77,8 18,65 383 306618 46,038x77,8x18,65 C = 22.225   T = 19.126
47,625 114,3 26,988 1 RMS 15/C3 47,625x114,3x26,988
47,625 114,3 26,988 350 AMS 15 47,625x114,3x26,988
47,625 114,3 26,988 1 RMS 15 47,625x114,3x26,988
48,419 101,6 41,91 445 415022 B 48,419x101,6x41,91 68   T1 = 28.22   T = 44.806
49 84 48 BTHB 329129 CE 49x84x48 Rod. rda del. Peugeot Boxer HDI DW8
49 84 48 boxer 49x84x48 skf
49 84 48 BTHB 329129 CE 49x84x48 Rod. rda del. Peugeot Boxer HDI DW8
49 84 48 boxer 49x84x48 skf
49,212 90 51,6 188 YAR 210 115 49,212x90x51,6 C = 22
50 65 7 1 61810 50x65x7
50 65 7 6810 50x65x7
50 72 12 6910 50x72x12
50 80 10 1 16010 50x80x10
50 80 10 1 16010/C3 50x80x10
50 80 16 1 6010 50x80x16
50 80 16 1 6010/C3 50x80x16
50 80 16 20 6010 Z 50x80x16
50 80 16 25 6010 2Z 50x80x16
50 80 16 30 6010 RS1 50x80x16
50 80 16 35 6010 2RS1 50x80x16
50 80 16 105 6010 NR 50x80x16 D2 = 86.6   S = 4.19   f = 1.7
50 80 16 105 6010 NR/C3 50x80x16
50 81,6 10 391 360522 50x81,6x10
50 81,6 16 391 60 Z 50 B 50x81,6x16
50 81,6 16 397 306445 C 50x81,6x16
50 82 16 392 615533 A 50x82x16
50 82 16 402 615465 C 50x82x16
50 90 11 1 98210 50x90x11
50 90 20 1 6210 50x90x20
50 90 20 1 6210/C3 50x90x20
50 90 20 1 6210/C4 50x90x20
50 90 20 20 6210 Z 50x90x20
50 90 20 20 6210 Z/C3 50x90x20
50 90 20 25 6210 2Z 50x90x20
50 90 20 25 6210 2Z/C3 50x90x20
50 90 20 30 6210 RS1 50x90x20
50 90 20 30 6210 RS1/C3 50x90x20
50 90 20 35 6210 2RS1 50x90x20
50 90 20 35 6210 2RS1/C3 50x90x20
50 90 20 85 6210 N 50x90x20
50 90 20 105 6210 NR 50x90x20
50 90 20 105 6210 NR/C3 50x90x20



50 90 20 247 210 2ZNR 50x90x20
50 90 20 300 1210 50x90x20
50 90 20 300 T 1210 K 50x90x20
50 90 20 350 7210 B 50x90x20
50 90 23 260 4210 A 50x90x23
50 90 23 260 T 4210 AK 50x90x23
50 90 25,4 527 607832 50x90x25,4
50 90 30,2 510 3210 50x90x30,2
50 90 30,2 510 3210/C3 50x90x30,2
50 90 34 538 633007 C 50x90x34
50 90 43,7 186 YET 210 50x90x43,7
50 99 37 585 633110 A 50x99x37
50 100 45 310 2211 K+H 311 50x100x45
50 110 27 1 6310 50x110x27
50 110 27 1 6310/C3 50x110x27
50 110 27 1 6310/C4/630251 50x110x27
50 110 27 20 6310 Z 50x110x27
50 110 27 25 6310 2Z 50x110x27
50 110 27 30 6310 RS1 50x110x27
50 110 27 35 6310 2RS1 50x110x27
50 110 27 35 6310 2RS1/C3 50x110x27
50 110 27 85 6310 N 50x110x27
50 110 27 85 6310 N/C3 50x110x27
50 110 27 85 410904 50x110x27
50 110 27 105 6310 NR 50x110x27
50 110 27 105 6310 NR/C3 50x110x27
50 110 27 110 63 ZNR 50x110x27
50 110 27 225 310 50x110x27
50 110 27 242 310 NR 50x110x27
50 110 27 245 310 ZNR 50x110x27
50 110 27 300 1310 50x110x27
50 110 27 350 7310 B 50x110x27
50 110 27 350 7310 BG 50x110x27
50 110 40 260 4310 A 50x110x40
50 110 40 300 2310 50x110x40
50 110 40 300 2310/C3 50x110x40
50 110 44,4 510 3310 50x110x44,4
50 110 44,4 510 3310/C3 50x110x44,4
50 110 44,4 527 3310 D 50x110x44,4
50 110 44,4 527 612291/C3 50x110x44,4
50 110 44,4 560 5310 NR 50x110x44,4
50 110 49,2 190 M 361713 A 50x110x49,2
50 116 33,8 591 441696 M 50x116x33,8
50 117 33,8 591 441696 R 50x117x33,8
50 120 35 594 441933 E 50x120x35
50 130 31 1 6410 50x130x31
50 130 31 1 6410/C3 50x130x31
50 130 31 105 6410 NR 50x130x31
50 130 31 242 617340/C3 50x130x31
50,8 101,6 20,638 1 RLS 16 50,8x101,6x20,638
50,8 101,6 20,638 300 RL 16 50,8x101,6x20,638
50,8 101,6 20,638 350 ALS 16 50,8x101,6x20,638
50,8 114,3 26,988 1 RMS 16 50,8x114,3x26,988
50,8 114,3 26,988 1 RMS 16/C3 50,8x114,3x26,988
51 90 20 35 6210/51 2RS1 51x90x20
52,388 81,61 15 390 411411 52,388x81,61x15
52,388 81,61 15 402 414527 B 52,388x81,61x15
54,05 113 73 443 360809 B 54,05x113x73
54,242 88,9 14,732 385 NIC.N 906 54,242x88,9x14,732
55 72 9 6811 55x72x9
55 80 13 1 61911 55x80x13
55 80 13 1 6911 55x80x13
55 80 13 6911 55x80x13
55 90 11 1 16011 55x90x11
55 90 11 1 16011/C3 55x90x11
55 90 18 1 6011 55x90x18
55 90 18 1 6011/C3 55x90x18



55 100 21 1 6211/C4 55x100x21
55 100 21 1 6211/344146 55x100x21
55 100 21 20 6211 Z 55x100x21
55 100 21 25 6211 2Z 55x100x21
55 100 21 30 6211 RS1 55x100x21
55 100 21 35 6211 2RS1 55x100x21
55 100 21 85 6211 N 55x100x21
55 100 21 85 6211 N/C3 55x100x21
55 100 21 105 6211 NR 55x100x21
55 100 21 105 6211 NR/C3 55x100x21
55 100 21 110 6211 ZNR 55x100x21
55 100 21 115 6211 2ZNR 55x100x21
55 100 21 120 6211 2RS1NR 55x100x21
55 100 21 125 362376 A 55x100x21
55 100 21 205 QJ 211 55x100x21
55 100 21 205 QJ 211 MA/C3 55x100x21
55 100 21 225 211 55x100x21
55 100 21 225 211/C3 55x100x21
55 100 21 230 211 Z 55x100x21
55 100 21 242 211 NR 55x100x21
55 100 21 245 211 ZNR 55x100x21
55 100 21 300 1211 55x100x21
55 100 21 350 7211 B 55x100x21
55 100 25 38 361116 55x100x25
55 100 25 260 4211 A 55x100x25
55 100 33,3 510 3211 55x100x33,3
55 100 33,3 510 3211/C3 55x100x33,3
55 100 33,3 548 3211 N MITTE 55x100x33,3
55 102,5 21 141 361292 C 55x102,5x21
55 102,5 25 142 361841 55x102,5x25
55 120 29 1 6311 55x120x29
55 120 29 1 3611/C3 55x120x29
55 120 29 1 3611/C4 55x120x29
55 120 29 20 3611 Z 55x120x29
55 120 29 30 6311 RS1/C4 55x120x29
55 120 29 35 3611 2RS1 55x120x29
55 120 29 85 6311 N 55x120x29
55 120 29 85 6311 N/C3 55x120x29
55 120 29 105 6311 NR 55x120x29
55 120 29 105 6311 NR/C3 55x120x29
55 120 29 110 6311 ZNR 55x120x29
55 120 29 115 6311 2ZNR 55x120x29
55 120 29 206 QJ 311 NMA/305819 55x120x29
55 120 29 225 311 55x120x29
55 120 29 25 311/C3 55x120x29
55 120 29 230 311 Z 55x120x29
55 120 29 242 311 NR 55x120x29
55 120 29 242 311 NR/C3 55x120x29
55 120 29 242 311 NR/C3VE003 55x120x29
55 120 29 242 630081 55x120x29
55 120 29 245 311 ZNR 55x120x29
55 120 29 245 311 ZNR/C3VE003 55x120x29
55 120 29 245 630080 55x120x29
55 120 29 300 1311 55x120x29
55 120 29 350 7311 B 55x120x29
55 120 43 260 4311 A 55x120x43
55 120 43 300 2311 55x120x43
55 120 49,2 510 3311 55x120x49,2
55 120 49,2 510 3311/C3 55x120x49,2
55 140 33 1 6411 55x140x33
55 140 33 1 6411/C3 55x140x33
55 140 33 85 6144 N 55x140x33
55 140 33 105 6411 NR 55x140x33
55 140 33 105 6411 NR/C3 55x140x33
57,15 88,9 18,699 385 NIC.N 477 57,15x88,9x18,699
57,15 113,8 22,225 1 RLS 18 LOC 57,15x113,8x22,225 *
57,15 114,3 22,225 1 RLS 18 57,15x114,3x22,225 LJ 18*



60 95 18 20 6012 Z/C3 60x95x18
60 95 18 25 6012 2Z/C4 60x95x18
60 95 18 35 6012 2RS1 60x95x18
60 95 18 105 6012 NR 60x95x18
60 95 30 35 BB1B 243305 60x95x30
60 96,6 18 392 360619 60x96,6x18
60 96,6 18 401 361835 60x96,6x18
60 97 18 392 615644 60x97x18
60 110 22 1 6212 60x110x22
60 110 22 1 6212/C3 60x110x22
60 110 22 1 6212/C4 60x110x22
60 110 22 20 6212 Z 60x110x22
60 110 22 20 6212 Z/C3 60x110x22
60 110 22 25 6212 2Z 60x110x22
60 110 22 30 6212 RS1 60x110x22
60 110 22 35 6212 2RS1 60x110x22
60 110 22 85 6212 N 60x110x22
60 110 22 85 6212 N/C3 60x110x22
60 110 22 105 6212 NR 60x110x22
60 110 22 110 6212 ZNR 60x110x22
60 110 22 113 6212 ZNBR 60x110x22
60 110 22 205 QJ 212/C2 60x110x22
60 110 22 205 QJ 212 M 60x110x22
60 110 22 225 212 60x110x22
60 110 22 230 212 Z 60x110x22
60 110 22 230 212 Z/C3 60x110x22
60 110 22 232 212 2Z 60x110x22
60 110 22 242 212 NR 60x110x22
60 110 22 245 212 ZNR 60x110x22
60 110 28 35 62212 2RS1 60x110x28
60 110 28 260 4212 A 60x110x28
60 110 36,5 510 3212 60x110x36,5
60 110 36,5 510 3212/C3 60x110x36,5
60 112 22 392 612446 A 60x112x22
60 112 22 392 613477 A 60x112x22
60 112,5 25 142 361875 C 60x112,5x25
60 130 31 1 6312 60x130x31
60 130 31 1 6312/C3 60x130x31
60 130 31 20 6312 Z 60x130x31
60 130 31 30 6312 RS1 60x130x31
60 130 31 35 6312 2RS1 60x130x31
60 130 31 85 6312 N/C3 60x130x31
60 130 31 105 6312 NR 60x130x31
60 130 31 105 6312 NR/C3 60x130x31
60 130 31 105 6312 NR/HE1C3 60x130x31
60 130 31 214 QJ 312 NR 60x130x31
60 130 31 225 312 60x130x31
60 130 31 225 312/C3 60x130x31
60 130 31 230 312 Z 60x130x31
60 130 31 242 312 NR 60x130x31
60 130 31 242 312 NR/C3VB147 60x130x31
60 130 31 242 613753 C 60x130x31
60 130 31 242 614123 A/C3 60x130x31
60 130 31 245 312 ZNR 60x130x31
60 130 31 250 BBFB 630369 60x130x31
60 130 31 300 1312 60x130x31
60 130 31 350 7312 B 60x130x31
60 130 46 300 2312 60x130x46
60 130 54 510 3312 60x130x54
60 130 54 527 3312 D 60x130x54
60 150 35 1 6412 60x150x35
60 150 35 20 6412 Z 60x150x35
60 150 35 105 6412 NR 60x150x35
60 150 35 105 6412 NR/C3 60x150x35
60 150 35 225 412 M 60x150x35
60 150 35 350 7412 B 60x150x35
60 165 35 250 613968 A 60x165x35



65 100 18 20 6013 Z 65x100x18
65 100 18 25 6013 2Z 65x100x18
65 100 18 25 6013 2Z/C5 65x100x18
65 100 18 30 6013 RS1 65x100x18
65 100 18 35 6013 2RS1 65x100x18
65 100 18 105 6013 NR 65x100x18
65 100 18 105 6013 NR/C3 65x100x18
65 100 18 113 6013 ZNBR 65x100x18
65 101,6 18 391 617674 65x101,6x18
65 101,6 18 393 414220 C 65x101,6x18
65 101,6 18 393 415946 65x101,6x18
65 101,6 18 394 414283 C 65x101,6x18
65 102 18 393 615923 A 65x102x18
65 120 23 1 6213 65x120x23
65 120 23 1 6213/C3 65x120x23
65 120 23 20 6213 Z 65x120x23
65 120 23 25 6213 2Z 65x120x23
65 120 23 35 6213 2RS1 65x120x23
65 120 23 85 6213 N/C3 65x120x23
65 120 23 105 6313 NR 65x120x23
65 120 23 105 6213 NR/C3 65x120x23
65 120 23 110 6213 ZNR 65x120x23 6213 ZNR
65 120 23 115 6213 2ZNR 65x120x23
65 120 23 120 6213 2RS1NR 65x120x23
65 120 23 184 1723213 2RS1 65x120x23
65 120 23 225 213 65x120x23
65 120 23 230 213 Z 65x120x23
65 120 23 242 213 NR 65x120x23
65 120 23 245 213 ZNR 65x120x23
65 120 23 350 7213 B 65x120x23
65 120 38,1 510 3213 65x120x38,1
65 130 55 310 2215 K+H 315 65x130x55
65 140 33 1 6313 65x140x33
65 140 33 1 6313/C3 65x140x33
65 140 33 1 6313 M/C3 65x140x33
65 140 33 85 6313 N 65x140x33
65 140 33 85 6313/C3 65x140x33
65 140 33 105 6313 NR 65x140x33
65 140 33 105 6313 NR/C3 65x140x33
65 140 33 110 6313 ZNR 65x140x33
65 140 33 110 6313 ZNR/C3 65x140x33
65 140 33 225 313 65x140x33
65 140 33 230 313 Z 65x140x33
65 140 33 235 313 N 65x140x33
65 140 33 235 313 N/C3 65x140x33
65 140 33 242 313 NR 65x140x33
65 140 33 245 313 ZNR 65x140x33
65 140 48 300 2313 65x140x48
65 140 58,74 510 3313 65x140x58,74
65 140 58,74 510 3313/C4 65x140x58,74
65 140 58,74 527 3313 D 65x140x58,74
65 140 58,74 527 3313 DM/C3S1 65x140x58,74
65 160 37 1 6413 65x160x37
65 160 37 105 6413 NR/C3 65x160x37
65 160 37 242 239929 65x160x37
65 160 37 242 614086/C3 65x160x37
69,85 102,791 15,478 385 NIC.N 856 69,85x102,791x15,478
69,85 103,584 20,421 385 604570 69,85x103,584x20,421
69,85 133,35 23,812 1 RLS 22 69,85x133,35x23,812
69,85 158,75 34,925 1 RMS 22 69,85x158,75x34,925
70 90 10 1 61814/C3 70x90x10
70 90 10 6814 70x90x10
70 100 16 6914 70x100x16
70 110 13 1 16014 70x110x13
70 110 13 1 16014 70x110x13
70 110 13 1 16014/C3 70x110x13
70 110 20 1 6014 70x110x20



70 125 24 1 6214/C5 70x125x24
70 125 24 1 362104 70x125x24
70 125 24 20 6214 Z 70x125x24
70 125 24 25 6214 2Z/C3 70x125x24
70 125 24 35 6214 2RS1 70x125x24
70 125 24 85 6214 N 70x125x24
70 125 24 225 214 70x125x24
70 125 24 230 214 Z 70x125x24
70 125 24 350 7214 B 70x125x24
70 125 24 351 614100 70x125x24
70 125 30 38 362197 70x125x30
70 125 31 260 4214 A 70x125x31
70 125 39,7 510 3214 70x125x39,7
70 150 35 1 6314 70x150x35
70 150 35 1 6314/C3 70x150x35
70 150 35 1 6314/C4 70x150x35
70 150 35 85 6314 N/C3 70x150x35
70 150 35 105 6314 NR/C3 70x150x35
70 150 35 225 314 70x150x35
70 150 35 235 314 N 70x150x35
70 150 35 300 1314 70x150x35
70 150 35 350 7314 B 70x150x35
70 150 51 260 4314 A 70x150x51
70 150 63,5 510 3314 70x150x63,5
70 150 63,5 527 3314 D 70x150x63,5
70 180 42 1 6414 70x180x42
75 95 10 1 61815/C3 75x95x10
75 95 10 6815 75x95x10
75 105 16 6915 75x105x16
75 115 13 1 16015 75x115x13
75 115 13 1 16015/C3 75x115x13
75 115 20 1 6015 75x115x20
75 115 20 1 6015/C3 75x115x20
75 115 20 1 6015/C4 75x115x20
75 115 20 2 360788 75x115x20
75 115 20 20 6015 Z 75x115x20
75 115 20 25 6015 2Z/C4 75x115x20
75 115 20 30 6015 RS1 75x115x20
75 115 20 35 6015 2RS1 75x115x20
75 115 20 105 6015 NR 75x115x20
75 130 24,11 351 410579 75x130x24,11
75 130 25 1 6215 75x130x25
75 130 25 1 6215/C3 75x130x25
75 130 25 20 6215 Z 75x130x25
75 130 25 25 6215 2Z 75x130x25
75 130 25 30 6215 RS1 75x130x25
75 130 25 35 6215 2RS1 75x130x25
75 130 25 85 6215 N/C3 75x130x25
75 130 25 105 6215 NR 75x130x25
75 130 25 105 6215 NR/C3 75x130x25
75 130 25 225 215 75x130x25
75 130 25 230 215 Z 75x130x25
75 130 25 350 7215 B 75x130x25
75 130 31 260 4215 A 75x130x31
75 130 41,3 510 3215 75x130x41,3
75 130 41,3 510 3215/C3 75x130x41,3
75 150 28 225 217/75 75x150x28
75 160 37 1 6315 75x160x37
75 160 37 1 6315/C3 75x160x37
75 160 37 35 6315 2RS1 75x160x37
75 160 37 225 315 75x160x37
75 160 37 230 315 Z 75x160x37
75 160 68,3 510 3315 75x160x68,3
75 190 45 1 6415 75x190x45
76 115 24 32 BB1B 243880 D 76x115x24
76,2 146,05 26,988 1 RLS 24 76,2x146,05x26,988
80 100 15 57 361952 B 80x100x15



80 140 26 35 6216 2RS1 80x140x26
80 140 26 85 6216 N 80x140x26
80 140 26 85 6216 N/C3 80x140x26
80 140 26 105 6216 NR 80x140x26
80 140 26 110 6216 ZNR 80x140x26
80 140 26 225 216 80x140x26
80 140 26 230 216 Z 80x140x26
80 140 26 350 7216 B 80x140x26
80 140 44,4 510 3216 80x140x44,4
80 170 39 1 6316 80x170x39
80 170 39 225 316 80x170x39
80 170 39 230 316 Z 80x170x39
80 170 39 242 316 NR 80x170x39
80 170 39 252 BBFB 630352 80x170x39
82,55 152,4 26,988 1 RLS 26 82,55x152,4x26,988
83 116 495 634052 83x116x
85 110 13 1 61817 85x110x13
85 110 13 6817 85x110x13
85 120 18 6917 85x120x18
85 130 14 1 16017 85x130x14
85 130 22 1 6017 85x130x22
85 130 22 35 6017 2RS1 85x130x22
85 130 22 85 6017 N 85x130x22
85 130 22 105 6017 NR 85x130x22
85 150 28 1 6217 85x150x28
85 150 28 20 6217 Z/C3 85x150x28
85 150 28 90 6217 ZNR 85x150x28
85 150 28 105 6217 NR 85x150x28
85 150 28 105 6217 NR/C3 85x150x28
85 150 28 225 217 85x150x28
85 150 28 230 217 Z 85x150x28
85 150 28 350 7217 B 85x150x28
85 170 32 225 219/85 85x170x32
85 180 41 1 6317 85x180x41
85 180 41 85 6317 N 85x180x41
85 180 41 225 317 85x180x41
88,9 165,1 28,575 1 RLS 28 88,9x165,1x28,575
90 115 13 6818 90x115x13
90 125 18 6918 90x125x18
90 140 16 1 16018 90x140x16
90 140 16 1 16018/C3 90x140x16
90 140 24 1 6018 90x140x24
90 140 24 1 6018/C3 90x140x24
90 140 24 1 6018/C5 90x140x24
90 140 24 20 6018 Z 90x140x24
90 140 24 85 6018 N 90x140x24
90 159,5 30 1 6218 LOC 90x159,5x30
90 160 30 1 6218 90x160x30
90 160 30 1 6218/C3 90x160x30
90 160 30 20 6218 Z 90x160x30
90 160 30 20 6218 Z/C3 90x160x30
90 160 30 105 6218 NR 90x160x30
90 160 30 225 218 90x160x30
90 160 52,4 510 3218 90x160x52,4
90 160 52,4 510 3218/C3 90x160x52,4
90 160 52,4 560 5218 NR 90x160x52,4
90 190 43 1 6318 90x190x43
90 190 43 20 6318 Z 90x190x43
90 190 43 225 318 90x190x43
90 190 73 510 3318 90x190x73
95 120 13 6818 95x120x13
95 130 18 6918 95x130x18
95 145 16 1 16019 95x145x16
95 145 16 1 16019/C3 95x145x16
95 145 16 1 16019 MB/C3 95x145x16
95 145 24 1 6019 95x145x24
95 145 24 1 6019/C3 95x145x24



95,25 133,25 19,05 1 400629 95,25x133,25x19,05
95,25 171,45 28,575 1 RLS 30 95,25x171,45x28,575
100 125 13 1 61820 100x125x13
100 125 13 6820 100x125x13
100 140 20 6920 100x140x20
100 150 24 1 6020 100x150x24
100 150 24 1 6020 MA 100x150x24
100 150 24 1 6020/C4 100x150x24
100 150 24 20 6020 Z 100x150x24
100 180 34 1 6220 100x180x34
100 180 34 225 220 100x180x34
100 180 34 230 220 Z 100x180x34
100 180 60,3 510 3220 100x180x60,3
100 215 47 1 6320 100x215x47
100 215 47 1 6320 100x215x47
101,6 184,15 31,75 1 RLS 32 101,6x184,15x31,75
101,6 184,15 31,75 1 RLS 32 101,6x184,15x31,75
105 130 13 6821 105x130x13
105 145 20 6921 105x145x20
105 160 26 1 6021 105x160x26
105 160 26 1 6021/C5 105x160x26
105 160 26 1 6021 105x160x26
105 160 26 1 6021/C5 105x160x26
105 190 36 1 6221 105x190x36
105 190 36 1 6221 105x190x36
105 225 49 1 6321 105x225x49
105 225 49 1 6321 105x225x49
107,95 190,5 31,75 1 RLS 34 107,95x190,5x31,75
107,95 190,5 31,75 1 RLS 34 107,95x190,5x31,75
107,95 222,25 44,45 1 RMS 34 107,95x222,25x44,45
107,95 222,25 44,45 1 RMS 34 107,95x222,25x44,45
110 140 16 6822 110x140x16
110 150 20 6922 110x150x20
110 170 19 1 16022 110x170x19
110 170 19 1 16022/C3 110x170x19
110 170 19 1 16022 110x170x19
110 170 19 1 16022/C3 110x170x19
110 170 28 1 6022 110x170x28
110 170 28 1 6022/C4 110x170x28
110 170 28 85 6022 N/C3 110x170x28
110 170 28 105 6022 NR/C3 110x170x28
110 170 28 1 6022 110x170x28
110 170 28 1 6022/C4 110x170x28
110 170 28 85 6022 N/C3 110x170x28
110 170 28 105 6022 NR/C3 110x170x28
110 200 38 1 6222 110x200x38
110 200 38 1 6222/C3 110x200x38
110 200 38 1 6222 110x200x38
110 200 38 1 6222/C3 110x200x38
110 200 69,8 510 3222 110x200x69,8
110 200 69,8 510 3222 110x200x69,8
114,3 203,2 33,338 1 RLS 36 114,3x203,2x33,338
114,3 203,2 33,338 1 RLS 36 114,3x203,2x33,338
118 160 18 352 440015 118x160x18
118 160 18 352 440015 118x160x18
120 150 16 1 61824 120x150x16
120 150 16 1 61824 120x150x16
120 150 16 6824 120x150x16
120 165 22 6924 120x165x22
120 180 19 1 16024 120x180x19
120 180 19 1 16024 120x180x19
120 180 28 1 6024 120x180x28
120 180 28 1 6024 MA 120x180x28
120 180 28 1 6024/C3 120x180x28
120 180 28 20 6024 Z 120x180x28
120 180 28 1 6024 120x180x28
120 180 28 1 6024 MA 120x180x28



150 225 35 1 6030 150x225x35
150 225 35 1 6030 150x225x35
160 240 25 1 16032 160x240x25
160 240 25 1 16032 160x240x25
160 240 38 1 6032 160x240x38
160 240 38 1 6032 160x240x38
165,1 279,4 39,688 1 RLS 52 165,1x279,4x39,688
165,1 279,4 39,688 1 RLS 52 165,1x279,4x39,688
180 280 31 1 16036 180x280x31
180 280 31 1 16036 180x280x31
190 290 31 1 16038 190x290x31
190 290 31 1 16038 190x290x31
190,5 317,5 44,45 1 RLS 60 190,5x317,5x44,45
190,5 317,5 44,45 1 RLS 60 190,5x317,5x44,45
220 340 37 1 16044 220x340x37
220 340 37 1 16044 220x340x37
220 270 24 6844 220x270x24
220 300 38 6944 220x300x38
220 340 37 16044 220x340x37
220 340 56 6044 220x340x56
220 400 65 6244 220x400x65
220 460 88 6344 220x460x88
240 300 28 6848 240x300x28
240 320 38 6948 240x320x38
240 360 37 16048 240x360x37
240 360 56 6048 240x360x56
260 320 28 6852 260x320x28
260 360 46 6952 260x360x46
260 400 44 16052 260x400x44
260 400 65 6052 260x400x65
280 350 33 6856 280x350x33
280 380 46 6956 280x380x46
280 420 44 16056 280x420x44
280 420 65 6056 280x420x65
300 380 38 6860 300x380x38
300 420 56 6960 300x420x56
300 460 50 16060 300x460x50
300 460 74 6060 300x460x74
320 400 38 6864 320x400x38
320 440 56 6964 320x440x56
320 480 50 16064 320x480x50
320 480 74 6064 320x480x74
340 420 38 6868 340x420x38
340 460 56 6968 340x460x56
340 520 57 16068 340x520x57
340 520 82 6068 340x520x82
360 440 38 6872 360x440x38
360 480 56 6972 360x480x56
360 540 57 16072 360x540x57
360 540 82 6072 360x540x82


